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TeachMe Academy        (88887 88889) Financial Statements of Not for Profit Organizations 

 

By CMA, CS Rohan Nimbalkar   

 

 

 

Smith Library Society showed the following position on 31st March, 2017:  

Balance Sheet as on 31st March, 2017 
 

Liabilities ₹ Assets ₹ 

Capital fund 

Expenses payable 

7,93,000 

7,000 

 
 
 

_  _____ 

8,00,000 

Electrical fittings 

Furniture 

Books 

Investment in securities 

Cash at bank 

Cash in hand 

1,50,000 

50,000 

4,00,000 

1,50,000 

25,000 

25,000 

8,00,000 

The receipts and payment account for the year ended on 31st March, 2018 is given below: 
 

 ₹  ₹ 

To   Balance b/d 

Cash at bank 25,000 

Cash in hand 25,000 

To   Entrance fee 

To   Membership subscription 

 

To   Sale   proceeds   of   old 
papers 

To   Hire of lecture hall 

To   Interest on securities. 

 
 

50,000 

30,000 

2,00,000 

 

1,500 

 

20,000 

8,000 

 
 

_______ 

3,09,500 

By   Electric charges 

By   Postage and stationary 

By   Telephone charges 

By   Books purchased 

By   Outstanding   expenses 

paid 

By   Rent 

 

By   Investment in securities 

By   Salaries 

By   Balance c/d 

Cash at bank 

Cash in hand 

7,200 

5,000 

5,000 

60,000 

7,000 

 

88,000 

 

40,000 

66,000 

 

20,000 

11,300 

3,09,500 

 

You are required to prepare income and expenditure account for the year ended 31st March, 2018 and 

a balance sheet as at 31s, March, 2018 after making the following adjustments: 

Membership subscription included ₹ 10,000 received in advance. Provide for outstanding rent ₹ 4,000 and 

salaries ₹ 3,000. 

Books to be depreciated @ 10% including additions. Electrical fittings and furniture are also to be depreciated 

at the same rate. 

75% of the entrance fees is to be capitalized.  

Interest on securities is to be calculated  @ 5% p.a. including purchases made on 1.10.2017 for ₹ 40,000. 

 

 

 

 

 

 

 

 

 

 

 

Question No. 1                                                                                   RTP  May 2018  & Mock Test April 2019 (20 MARKS) 

Financial statements of Not for Profit Organizations 
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By CMA, CS Rohan Nimbalkar   

 

Answer 

Smith Library Society Income and Expenditure Account for the year ended 31st March, 2018 

 
 

Dr.     Cr. 

Expenditure ₹ ₹ Income  ₹ 

To    Electric charges 

To    Postage and stationary 

To    Telephone charges 

To    Rent 

Add: Outstanding 

To    Salaries 

Add: Outstanding 

To   Depreciation (W.N.1) 

Electrical fittings 

Furniture 

Books 

  
 
 

88,000 

4,000 

66,000 

3,000 
 

15,000 

5,000 

46,000 

7,200 

5,000 

5,000 
 

92,000 
 

69,000 
 
 
 
 

66,000 

By   Entrance fee (25% of 
₹  30,000) 

By    Membership 
subscription 

Less: Received in advance 

By   Sale proceeds of old 
papers 

By    Hire of lecture hall 

By    Interest on securities 

(W.N.2) 

Add: Receivable 

By    Deficit-   excess   of 
expenditure over 
income 

 
 

2,00,000 

10,000 
 
 
 
 
 

8,000 
 

500 

7,500 
 
 

1,90,000 
 

1,500 
 

20,000 
 
 
 

8,500 

16,700 

   2,44,200   2,44,200 

 

Balance Sheet of Smith Library Society as on 31st March, 2018 

 

Liabilities ₹ ₹ Asset ₹ ₹ 

Capital fund 7,93,000  Electrical fittings 1,50,000  

Add:  Entrance fees 

 

_22,500  Less: Depreciation (15,000) 1,35,000 

 8,15,500  Furniture 50,000 

 

 

Less: Excess of expenditure 

over income 

(16,700) 7,98,800 Less: Depreciation (5,000) 45,000 

Outstanding expenses:   Books 4,60,000  

Rent 

 

4,000  Less Depreciation (46,000) 4,14,000 

Salaries 3,000 7,000 Investment:   

Membership subscription in 

advance  

 10,000 Securities 1,90,000  

   Accrued   interest 500 1,90,500 

   Cash at bank  20,000 

   Cash in hand  11,300 

      

  8,15,800   8,15,800 
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Working Notes: 

1. Depreciation 
  

 ₹ 

Electrical fittings 10% of ₹ 1,50,000 15,000 

Furniture 10% of ₹ 50,000 5,000 

Books 10% of ₹ 4,60,000 46,000 

 

2. Interest on Securities 

 

 ₹ ₹ 

Interest @ 5% p.a. on ₹ 1,50,000 for full year 7,500  

Interest @ 5% p.a. on ₹ 40,000 for half year 1,000 8,500 

Less: Received  (8,000) 

Receivable  500 

  

 

The  following  information  of  M/s.  TT  Club  are  related  for  the  year  ended 31st March, 2018: 

 

(1)  
 

Balances As on 01-04-2017 (₹) As on 31-3-2018 (₹) 

Stock of Sports Material 

Amount due for Sports Material 

Subscription due 

Subscription received in advance 

75,000 

67,500 

11,250 

9,000 

1,12,500 

97,500 

16,500 

5,250 

 

(2) Subscription received during the year ₹  3,75,000 

(3) Payments for Sports Material during the year ₹  2,25,000 

 

You are required to: 

(A) Calculate the amount of Subscription and Sports Material that will appear in Income & Expenditure 

Account for the year ended 31.03.2018 and 

(B)  Also show how these items would appear in the Balance Sheet as on 31.03.2018. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Question No. 2                                                                                                                                                           RTP  Nov. 2018 
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By CMA, CS Rohan Nimbalkar   

 

Answer 

Subscription for the year ended 31.3.2018 
 

  ₹ 

Subscription received during the year 

Less: Subscription receivable on 1.4.2017 

Less: Subscription received in advance on 31.3.2018 
 

Add: Subscription receivable on 31.3.2018 

Add: Subscription received in advance on 1.4.2017 

Amount of Subscription appearing in Income & Expenditure 

Account 

 

11,250 

5,250 
 

16,500 

9,000 

3,75,000 
 

(16,500) 

3,58,500 
 

25,500 

3,84,000 

 

Sports material consumed during the year end 31.3.2018 

 

 ₹ 

Payment for Sports material 2,25,000 

Less: Amounts due for sports material on 1.4.2017 (67,500) 

 1,57,500 

Add: Amounts due for sports material on 31.3.2018 97,500 

Purchase of sports material 2,55,000 

Sports material consumed:  

Stock of sports material on 1.4.2017 75,000 

Add: Purchase of sports material during the year 2,55,000 

 3,30,000 

Less: Stock of sports material on 31.3.2018 (1,12,500) 

Amount of Sports Material appearing in Income & 

Expenditure Account 

 

2,17,500 

 

Balance Sheet of M/s TT Club For the year ended 31st March, 2018 (An extract) 
 

Liabilities ₹ Assets ₹ 

Unearned Subscription 

Amount due for sports material 

5,250 

97,500 

Subscription receivable 

Stock of sports material 

16,500 

1,12,500 
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The Receipts and Payments account of Trustwell Club prepared on 31st March, 2018 is as follows: 

Receipts and Payments Account 

 

Receipts  Amount  ₹ Payments Amount  ₹ 

To Balance b/d  450 By Expenses (including 

For sports material ₹ 2,700) 

6,300 

To Annual Income from Payment 

Subscription 

4,590    

Add: Outstanding  of last year   

received this year 

 

Less:  Prepaid  of  last year 

To   Other fees 

To   Donation for Building 

180 

 

4,770 

90 

 

 

                    

4,680 

1,800 

90,000 

96,930 

By    Loss  on Sale of 

Furniture (cost price ₹ 450) 

By    Balance c/d 

180 

 

90,450 

 

 

 

96,930 

 

Additional information: 

1. Trustwell club had balances as on 1.4.2017 : - 

Furniture ₹ 1,800; Investment at 5% ₹ 27,000;  

Sports material ₹ 6,660; 

2. Balance as on 31.3.2018 :  

Subscription Receivable ₹ 270;  

Subscription received in advance ₹ 90;  

Stock of sports material ₹ 1,800. 

Do you agree with above Receipts and Payments account?  If not, prepare correct Receipts and 

Payments account and Income and Expenditure account for the year ended 31st March, 2018 and Balance 

Sheet on that date. 

 

Answer 
 

Corrected Receipts and Payments Account of Trustwell Club for the year ended 31st  March, 2018 

 
 

Receipts ₹ Amount 

₹ 

Payments Amount 

₹ 

To Balance b/d 

To Subscription 

Annual Income 

Less: Receivable as on 31.3.2018 

Add:  Advance  received for  the year 2018-

2019 

Add: Receivable as on 31.3.2017 

Less:  Advance  received as on 31.3.2017 

Other Fees 

To Donation for Building 

To Sale of Furniture 

 

 

4,590 

270 

90 

               

180 

90 

450 

 
 
 
 
 
 

4,500 

1,800 

90,000 

270 

97,020 

By Expenses 

(₹ 6,300 - ₹ 2,700) 

By Sports Material 

By Balance c/d 

(Cash  in Hand and at Bank) 

 
3,600 

2,700 

 

90,720 

 
 
 
 
 
 
 

97,020 

 

 

 

Question No. 3                                                                                                                                                                 RTP  May 2019 

32



TeachMe Academy        (88887 88889) Financial Statements of Not for Profit Organizations 

 

By CMA, CS Rohan Nimbalkar   

 

Income and Expenditure Account of Trustwell club for the year ended 31st March, 2018 
 

Expenditure  Amount Income Amount 

  ₹  ₹ 

To Sundry Expenses 

To Sports Material 

Balance as on 1.4.2017 

Add: Purchases 

Less:  Balance  as  on 31.3.2018 

To Loss on sale of Furniture 

 
 

6,660 

2,700 

1,800 

3,600 

 
 
 

7,560 

180 

11,340 

By Subscription 

By Other fees 

By Interest on investment 

(5% on ₹ 27,000) 

By Deficit: Excess of Expenditure 

over Income 

4,590 

1,800 

1,350 

 
 

3,600 

11,340 

Balance Sheet of Trustwell club as on 31st March, 2018 
 

Liabilities  Amount 

(₹) 
Assets  Amount 

(₹) 

Capital Fund 

Less: Excess of 

Expenditure 

over Income 

Building Fund 

 

Subscription  Received 

in Advance 

36,000 

 

3,600 

 
 

32,400 

 

90,000 

 

90 

 
 
 

_______ 

1,22,490 

Furniture 

Less: Sold 

5% Investment 

 

Interest Accrued 

on Investment 

Sports Material 

Subscription 

Receivable 

Cash in Hand and 

at Bank 

1,800 

450 

 

1,350 

27,000 

 
 

1,350 

1,800 

270 

 
 

90,720 

1,22,490 

 

Working Note: 

Balance Sheet of Trustwell Club as on 1st April, 2017 
 

Liabilities Amount Assets Amount 

 ₹  ₹ 

Subscription 

Received in Advance 

Capital Fund 

(Balancing Figure) 

 

90 

36,000 

 
 

36,090 

Furniture 

Investment 

Sports Material 

Subscription Receivable 

Cash in Hand and at Bank 

1,800 

27,000 

6,660 

180 

450 

36,090 
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By CMA, CS Rohan Nimbalkar   

 

i 

 

The following are the balances as at 31st March, 2017 extracted from the books of Mr. XYZ. 
 

 ₹  ₹ 

Plant and Machinery 

Furniture and Fittings 

Bank Overdraft 

Capital Account 

Drawings 

Purchases 

Opening Stock 

Wages 

Provision for doubtful debts 

Provision for Discount on 

debtors 

Sundry Debtors 

Sundry Creditors 

Bad debts 

19,550 

10,250 

80,000 

65,000 

8,000 

1,60,000 

32,250 

12,165 

3,200 

 

1,375 

1,20,000 

47,500 

1,100 

Bad debts recovered 

Salaries 

Salaries payable 

Prepaid rent 

Rent 

Carriage inward 

Carriage outward 

Sales 

Advertisement Expenses 

Printing and Stationery 

Cash in hand 

Cash at bank 

Office Expenses 

Interest paid on loan 

450 

22,550 

2,450 

300 

4,300 

1,125 

1,350 

2,15,300 

3,350 

1,250 

1,450 

3,125 

10,160 

3,000 

 

Additional Information: 

1. Purchases include sales return of ₹2,575 and sales include purchases return of ₹1,725. 

2. Goods withdrawn by Mr. XYZ for own consumption ₹3,500 included in purchases. 

3. Wages paid in the month of April for installation of plant and machinery amounting to ₹450 were 

included in wages account. 

4. Free samples distributed for publicity costing ₹825. 

5. Create a provision for doubtful debts @ 5% and provision for discount on debtors @ 2.5%. 

6. Depreciation is to be provided on plant and machinery @ 15% p.a. and on furniture and fittings @ 10% 

p.a.  

7. Bank overdraft  is  secured  against  hypothecation  of  stock.    Bank overdraft outstanding as on 

31.3.2017 has been considered as 80% of real value of stock (deducting 20% as margin) and after 

adjusting the marginal value 80% of the same has been allowed to draw as an overdraft. 

 

Prepare a Trading and Profit and Loss Account for the year ended 31st March, 2017, and a Balance Sheet as on 

that date.  Also show the rectification entries. 

 

 

 

 

 

 

 

 

 

 

Question No. 1  (Final Account & Rectification of Errors )                                   RTP  May 2018, RTP Nov. 2019 

Final accounts 
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By CMA, CS Rohan Nimbalkar   

 

 

Answer 

Rectification Entries 

  

  Particulars Dr. 

Amount 
₹ 

Cr. 

Amount 
₹ 

(i) Returns inward account.................................Dr.  

Sales account.................................Dr. 

To Purchases account 

To Returns outward account 

(Being sales return and purchases return wrongly included 

in purchases and sales respectively, now rectified) 

 

2,575 

1,725 

 

 

2,575 

1,725 

(ii) Drawings account....................................Dr. 

          To Purchases account 

(Being   goods   withdrawn   for   own consumption 

included in purchases, now rectified) 

 

3,500  

3,500 

(iii) Plant and machinery account............................Dr.  

    To Wages account 

(Being wages paid for installation of plant and machinery 

wrongly debited to wages, now rectified) 

 

450  

450 

(iv) Advertisement expenses account.............................Dr.  

     To Purchases account 

(Being free samples distributed for publicity out of purchases, 

now rectified) 

825  

825 

Trading and Profit and Loss Account of Mr. XYZ  for the year ended 31st March, 2017 

 

Dr. Amount Amount Cr. Amount Amount 

 ₹ ₹  ₹ ₹ 

To  Opening stock   32,250 By Sales 2,13,575 

 

 

To Purchases  1,53,100  Less: Sales return 2,575 

 

2,11,000 

 

Less: Purchases return 1,725 1,51,375  By Closing stock   

To Carriage inward   1,125 = 80,000 x 100/80 x 100/80  1,25,000 

To Wages   11,715    

To  Gross profit c/d   1,39,535    

  3,36,000   3,36,000 

 

To Salaries  22,550  By Gross profit b/d  1,39,535 

To Rent  4,300 By Bad Debts recovered  450 

To Advertisement expenses  4,175    

To Printing and stationery  1,250    

To Bad debts  1,100    

To Carriage outward  1,350    

To Provision for doubtful      

42



TeachMe Academy        (88887 88889) Final accounts 

 

By CMA, CS Rohan Nimbalkar   

 

debts 5% of ₹1,20,000     6,000  

Less: Existing provision                                        3,200 2,800    

To Provision   for discount   

on debtors 2.5% of ₹1,14,000

  

2,850     

Less: Existing provision 1,375 1,475    

To Depreciation: 

Plant and machinery     

Furniture and fittings      

 

3,000 

1,025 

 

 

4,025 

   

To Office expenses  10,160    

To Interest on loan  3,000    

To Net profit (Transferred to 

capital account) 

 

 83,800    

  1,39,985   1,39,985 

 

 

Balance Sheet of Mr. XYZ as on 31st March, 2017 
 

 Amount Amount  Amount Amount 

Liabilities 

 
₹ 

 

₹ 
 

Assets 

 
₹ 

 

₹ 
 Capital 

account 

Add: Net profit 
 

Less: 
Drawings 

Bank overdraft 

Sundry creditors 

Payable salaries 

65,000 
 

83,800 

1,48,800 

11,500 

 
 
 
 
 

1,37,300 

80,000 

47,500 

2,450 
 
 
 
 
 

Plant and machinery 

Less: Depreciation 

Furniture and fittings 

Less: Depreciation 

Closing stock 

Sundry debtors 
 

Less: Provision for doubtful debts 

           Provision for bad debts 

Prepaid rent 

Cash in hand 

Cash at bank 

20,000 

3,000 

10,250 

1,025 
 

1,20,000 
 

6,000 

2,850 

 

17,000 
 

9,225 

1,25,000 
 
 
 

1,11,150 

300 

1,450 

3,125 

 
  2,67,250   2,67,250 

 

 

The following is the trial balance of Hari as at 31st December, 2017: 

 

 Dr. Cr. 

 ₹ ₹ 

Hari’s capital account - 76,690 

Stock 1st January, 2017 46,800 - 

Sales - 3,89,600 

Returns inward 8,600 - 

Purchases 3,21,700 - 

Returns outward - 5,800 

Carriage inwards 19,600 - 

Rent & taxes 4,700 - 

Salaries & wages 9,300 - 

Sundry debtors 24,000 - 

Question No. 2                                                                                                                                                           RTP  Nov. 2018 
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Sundry creditors - 14,800 

Bank loan @ 14% p.a. - 20,000 

Bank interest 1,100 - 

Printing and stationary expenses 14,400 - 

Bank balance 8,000 - 

Discount earned - 4,440 

Furniture & fittings 5,000 - 

Discount allowed 1,800 - 

General expenses 11,450 - 

Insurance 1,300 - 

Postage & telegram expenses 2,330 - 

Cash balance 380 - 

Travelling expenses 870 - 

Drawings 30,000 _______ 

 5,11,330 5,11,330 

 

 

The following adjustments are to be made: 

(1)   Included amongst the debtors is ₹3,000 due from Ram and included among the  creditors ₹1,000 due 

to him. 

(2)   Provision for bad and doubtful debts be created at 5% and for discount @ 2% on sundry debtors. 

(3)   Depreciation on furniture & fittings @ 10% shall be written off. 

(4)   Personal purchases of Hari amounting to ₹600 had been recorded in the purchases day book. 

(5)   Interest on bank loan shall be provided for the whole year. 

(6)   A quarter of the amount of printing and stationary expenses is to be carried forward to the next year. 

(7)   Credit purchase invoice amounting to ₹400 had been omitted from the books. 

(8)   Stock on 31.12.2017 was ₹78,600. 

Prepare (i) Trading & profit and loss account for the year ended 31.12.2017 and (ii) Balance sheet as on 

31st December, 2017. 

 

Answer 
 
Trading and Profit and Loss Account of Mr. Hari for the year ended 31st December, 2017 

 

 ₹ ₹  ₹ ₹ 

To Opening stock  46,800 By Sales 3,89,600  

To Purchases 3,21,700  Less: Returns (8,600) 3,81,000 

Add: Omitted invoice 400  By Closing stock  78,600 

 3,22,100     

Less: Returns (5,800)     

 3,16,300     

Less: Drawings (600) 3,15,700    

To Carriage  19,600    

To Gross profit c/d  77,500    

  4,59,600   4,59,600 

To Rent and taxes  4,700 By Gross profit b/d  77,500 

To Salaries and wages  9,300 By Discount  4,440 

To Bank interest 1,100     

Add: Due 1,700 2,800    

To Printing and Stationary 14,400     

Less: Prepaid (1/4) 3,600 10,800    

To Discount allowed  1,800    

To General expenses  11,450    

To Insurance  1,300    
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To Postage & telegram expenses  2,330    

To Travelling expenses  870    

To Provision for bad debts 

[W.N.(ii)] 

 1,150    

To Provision for discount on 

debtors [W.N.(iii)] 

 437    

To Depreciation on furniture & 

fittings 

 500    

To Net profit  34,503    

  81,940   81,940 

 

Balance Sheet of Hari as at 31st December, 2017 

Liabilities ₹ ₹ Assets ₹ ₹ 

Capital 76,690  Furniture & fittings 5,000  

Add: Net profit 34,503  Less: Depreciation 500 4,500 

 1,11,193  Sundry debtors (W.N.1) 23,000  

Less: Drawings:   Less: Provision for bad & doubtful 
debts (W.N.2) 

 

1,150 

 

Cash                      30,000    21,850  

Goods                       600     30,600 80,593 Less: Provision for discount (W.N.2) 437 21,413 

Bank loan  20,000 Stock  78,600 

Bank interest due  1,700 Prepaid expenses:   

Sundry creditors (W.N.3)  14,200        Printing & stationary  3,600 

   Bank balance  8,000 

   Cash balance  380 

  1,16,493   1,16,493 

Working Notes: 

(1) Sundry debtors 

 

Balance as per trial balance 24,000 

Less: Due to Ram 1,000 

 23,000 

(2) Provision for bad & doubtful debts: 
 

@ 5% on ₹23,000 1,150 

  

        Provision for discount: 

 

2% on ₹21,850 (23,000 -1,150) 437 

(3) Sundry creditors 

 

Balance as per trial balance 14,800 

Less: Set off in respect of Ram 1,000 

 13,800 

Add: Purchase invoice omitted 400 

 14,200 
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Question No. 1 

 

Problem No. 1 : From the following entries in the Bank column of the Cash book of Saimurali and the 

corresponding pass book, prepare the bank reconciliation statement as on 30th September, 1983. 

 

Bank Column Of Cash Book 

Sept. ₹  Sept. ₹  

1   To Ramprasad 1,500 1   By Balance b/d  2,500 

12 To Vasantha Krishna 1,700 8   By Ramchandra  2,000 

18 To Devidas 2,500 10 By Sainath  1,000 

20 To KrishnaMurari 1,500 15 By Drawings     500 

29 To Kailas Nath & Co.   1,000 20 By Salary  1,500 

30 To Balance c/d  1,100 28 By Ghanshyam  1,800 

 9,300  9,300 

 

Saimurali In Account With Sivam Bank  

Bank Pass Book  

Sept. ₹  Sept. ₹  

1      To Balance b/d 2,500 2    By Ramprasad 1,500 

9      To Ramchandra 2,000 14  By Vasantha Krishna 1,700 

11    To Sainath 1,000 19  By Devidas 2,500 

15    To Drawings    500 25  By Sale of Security 1,500 

20    To Salary 1,500 28  By Bills collected    300 

25    To subscription to club    100 30  By Balance c/d    300 

26    To LIC premium  50   

30    To Interest on o/d  150   

 7,800  7,800 

Oct. 

1. To Balance b/d 

 

300 

  

 

 

Question No. 2 

 
Problem No.2: The following is the summary of a cash book as presented to you for the month of 

December, 1977 : 

 

Receipts 1,469 Balance brought forward   761 

Balance, carried forward    554 Payments 1,262 

 2,023  2,023 

All receipts are banked and payments are made by cheque. On investigation you discover : 

1. Bank charges of ₹ 136 entered in the bank statement had not been entered in cash book. 

2. Cheques drawn amounting to ₹ 267 had not been presented to the bank for payment. 

Bank Reconciliation Statement 
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3. Cheques received totalling ₹ 762 had been entered in the cash book and paid into the bank, but had 

not been credited by the bank until January, 1978. 

4. A cheque for ₹ 22 had been entered as a receipt in the cash book instead of as a payment. 

5. A cheque for ₹ 25 had been debited by the bank erroneously. 

6. A cheque received for ₹ 80 had been returned by the bank and marked "No funds available". No 

adjustment had been made in the cash book. 

7. All dividends receivable are credited directly to the bank account. During December amounts 

totalling ₹ 62 were credited by the bank and no entries made in the cash book. 

8. A cheque drawn for ₹ 6 had been incorrectly entered in the cash book as ₹ 66. 

9. The balance brought forward should have been ₹ 711. 

10. The bank statement as on 31st December 1977, showed an overdraft of ₹ 1,162. 

You are required to: 

a) Show the adjustments required in the cash book, and 

b) prepare a bank reconciliation statements as on 31st December, 1977. 
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Question No. 1 

 

State with reasons whether the following statements are ‘True’ or ‘False’. 

(1) Overhaul expenses of second-hand machinery purchased are Revenue Expenditure. 

(2) Money spent to reduce working expenses is Revenue Expenditure. 

(3) Legal fees to acquire property is Capital Expenditure. 

(4) Amount spent as lawyer’s fee to defend a suit claiming that the firm’s factory site belonged to the 

plaintiff’s land is Capital Expenditure. 

(5) Amount spent for replacement of worn out part of machine is Capital Expenditure. 

(6) Expense incurred on the repairs and white washing for the first time on purchase of an old building 

are Revenue Expenses. 

(7) Expenses in connection with obtaining a license for running the cinema is Capital Expenditure. 

(8) Amount spent for the construction of temporary huts, which were necessary for construction of the 

Cinema House and were demolished when the cinema house was ready, is Capital Expenditure. 
 
Question No. 2 

 

State with reasons whether the following are Capital or Revenue Expenditure: 

(1) Expenses incurred in connection with obtaining a license for starting the factory for ₹ 10,000. 

(2) ₹ 1,000 paid for removal of Inventory to a new site. 

(3) Rings and Pistons of an engine were changed at a cost of ₹ 5,000 to get fuel efficiency. 

(4) Money paid to Mahanagar Telephone Nigam Ltd. (MTNL) ₹ 8,000 for installing telephone in the 

office. 

(5) A factory shed was constructed at a cost of  ₹ 1,00,000. A sum of  ₹ 5,000 had been incurred in the 

construction of temporary huts for storing building material. 
 
Question No. 3 

 

Good Pictures Ltd., constructs a cinema house and incurs the following expenditure during the first year 

ending 31st March, 2016. 

(i) Second-hand furniture worth ₹ 9,000 was purchased; repainting of the furniture costs ₹ 1,000. 

The furniture was installed by own workmen, wages for this being ₹ 200. 

(ii) Expenses in connection with obtaining a license for running the cinema worth ₹ 20,000. 

During the course of the year the cinema company was fined ₹ 1,000, for contravening rules. 

Renewal fee ₹ 2,000 for next year also paid. 

(iii) Fire insurance, ₹ 1,000 was paid on 1st October, 2015 for one year. 

(iv) Temporary huts were constructed costing ₹ 1,200. They were necessary for the construction of 

the cinema.  

They were demolished when the cinema was ready.  

Point out how you would classify the above items.  

 

Question No. 4 

 

State with reasons, how you would classify the following items of expenditure: 

1. Overhauling expenses of ₹ 25,000 for the engine of a motor car to get better fuel efficiency. 

2. Inauguration expenses of ₹ 25 lacs incurred on the opening of a new manufacturing unit in an 

existing business. 

3. Compensation of ₹ 2.5 crores paid to workers, who opted for voluntary retirement.  

Capital Revenue Expenditure 
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Question No. 5 

 

Classify the following expenditures and receipts as capital or revenue: 

(i) ₹ 10,000 spent as travelling expenses of the directors on trips abroad for purchase of capital 

assets. 

(ii) Amount received from Trade receivables during the year. 

(iii) Amount spent on demolition of building to construct a bigger building on the same site. 

(iv) Insurance claim received on account of a machinery damaged by fire.  

 

Question No. 6 

 

Are the following expenditures capital in nature? 

(i) M/s ABC & Co. run a restaurant. They renovate some of the old cabins. Because of this renovation 

some space was made free and number of cabins was increased from 10 to 13. The total 

expenditure was ₹ 20,000. 

(ii) M/s New Delhi Financing Co. sold certain goods on installment payment basis. Five customers 

did not pay installments. To recover such outstanding installments, the firm spent ₹ 10,000 on 

account of legal expenses. 

(iii) M/s Ballav & Co. of Delhi purchased a machinery from M/s Shah & Co. of Ahmedabad. M/s Ballav& 

Co. spent ₹ 40,000 for transportation of such machinery.  The year ending is 31st Dec, 2015. 
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The following errors were committed by the Accountant of Geete Dye-Chem. 

 

1. Credit sale of ₹ 400 to Trivedi & Co. was posted to the credit of their account. 

2. Purchase of ₹ 420 from Mantri & Co. passed through Sales Day Book as ₹ 240 . 

 

How would you rectify the errors assuming that : 
 

a) They were detected before preparation of Trial Balance. 

b) They were detected after preparation of Trial Balance but before preparing Final Accounts, the difference 

was taken to Suspense A/c. 

c) They were detected after preparing Final Accounts. 

 

 

Answer 
 

(i) This is one sided error. Trivedi & Co. account is credited instead of debit. Amount posted to the wrong side and 

therefore while rectifying the account, double the amount (₹ 800) will be taken. 

 

 

 

Before TrialBalance After Trial Balance After Final Accounts 

No Entry 

Debit Trivedi A/c with ₹ 800 

Trivedi & Co. A/c Dr. 800 

           To Suspense A/c 800 

Trivedi & Co. A/c Dr. 800 

       To Suspense A/c 800 

 

 

(ii)   Purchase of ₹ 420 is wrongly recorded through sales day book as ₹ 240. 

 

 

Correct Entry Entry Made Wrongly 

Purchase A/c ..............Dr.  420 Mantri & Co. ........Dr.  240 

    To Mantri & Co.  420      To Sales  240 

 

 

 

 

Before Trial Balance After Trial Balance After Final Accounts 

Sales A/c .......................Dr. 240 Sales A/c ..............Dr. 240 Profit & Loss Adj. A/c .........Dr. 660 

Purchase A/c  ...............Dr. 420 Purchase A/c ........Dr. 420     To Mantri & Co.                       660 

     To Mantri & Co.               660      To Mantri & Co.           660  
 

 

 

 

 

 

 

 

 

Question No. 1                                                                                         RTP  May 2018, RTP Nov. 2019 

Rectification of errors 
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M/s Suman & Co. find the following errors in their books of account before preparation of Trial Balance. You are 

required to pass necessary journal entries: 

 

I. A purchase of ₹ 5,600 from M/s Minu & Co. was recorded in the accounts of M/s Mintu & Co. as ₹ 6,500. 

Day Book entry has also been passed incorrectly. 

 

II. A sale of ₹ 9,800 to M/s Bantu Bros. was recorded in M/s Bindu & Co.’s account as ₹ 8,900. Day Book entry 

has also been incorrectly passed. 

 

III. Discount allowed ₹ 560 (as per Cash Book) has been posted to Commission Account. But the Cash Book 

total should be ₹ 650, because discount allowed of of ₹ 90 to M/s Bantu Bros. has been omitted. 

IV. A cheque of ₹ 9,700 drawn by M/s Bantu Bros. has been dishonoured, but wrongly debited to M/s Bhakt & 

Co. 
 

Should the Trial Balance tally without rectification of errors? 

 

Answer 

 Journal Proper of Suman & Co.   

  Rectification Entries   
     

  Particulars Dr. Cr. 

   Amount Amount 

   ₹ ₹ 

 (i) M/s Mintu & Co. A/c 6,500  

      To M/s Minu & Co. A/c 5,600 

      To Purchases A/c 900 

  (Rectification  of  purchase  entry  for   ₹  5,600  
  dated….as ₹ 6,500 in M/s Mintu & Co.’s Account 

in place of M/s Minu & Co. A/c). 

 

   

 (ii) M/s Bantu Bros. A/c 9,800  

      To Sales A/c 900 

      To M/s Bindu & Co. A/c 8,900 

  (Rectification of sale entry for ₹ 9,800 dated as 

₹ 8,900 in M/s Bindu & Co.’s Account in place of 

M/s Bantu Bros. A/c). 

 
   

   

 (iii) Discount Allowed A/c 650  

      To Commission A/c 560 

      To M/s Bantu Bros. A/c 90 

 

(Rectification  of  wrong  posting  of  discount  in 

commission  account  and  omission  of  

discount transaction dated….).  

 
 

 
 

 
 

(iv) M/s Bantu Bros. A/c 9,700   
 

 T o Bhakt & Co. A/c 9,700  
 

 (Wrong   posting   for   the   dishonoured cheque 

dated…. is being rectified). 

   
 

    
 

 

 

Since all the errors are two-sided in nature, Trial Balance would have tallied even if the rectifications are not done. 

 

Question No. 2                                                                                                                                   RTP  May 2019 
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Give journal entries (narrations not required) to rectify the following: 

 

1. Purchase of Furniture on credit from Nigam for ₹ 3,000 posted to Subham account as ₹ 300. 

 

2. A Sales Return of ₹ 5,000 to Jyothy was not entered in the financial accounts though it was duly taken in 

the stock book. 

 

3. Investments were sold for ₹ 75,000 at a profit of ₹ 15,000 and passed through Sales account. 

 

4. An amount of ₹ 10,000 withdrawn by the proprietor (Darshan) for his personal use has been debited to 

Trade Expenses account.  

 

Answer 
 

Journal Entries 
 

 Particulars L.F. Dr. Cr. 

   (₹) (₹) 

(i)  Subham A/c Dr. 300  

  Furniture A/c Dr. 2,700  

          To Nigam A/c   3,000 

(ii)  Sales Returns A/c Dr. 5,000  

          To Jyothy A/c   5,000 

(iii)  Sales A/c Dr. 75,000  

           To P & L A/c (Gain on sale of investments)   15,000 

           To Investments A/c   60,000 

(iv)  Drawings A/c Dr. 10,000  

          To Trade Expenses A/c   10,000 

 

 

 

The following mistakes were located in the books of a concern after its books were closed and a Suspense Account 

was opened in order to get the Trial Balance agreed: 

 

I. Sales Day Book was overcast by ₹ 1,000. 

II. A sale of ₹ 5,000 to X was wrongly debited to the Account of Y. 

III. General expenses ₹ 180 was posted in the General Ledger as ₹ 810. 

IV. A Bill Receivable for ₹ 1,550 was passed through Bills Payable Book. The Bill was given by P. 

V. Legal Expenses ₹ 1,190 paid to Mrs. Neetu was debited to her personal account. 

VI. Cash received from Ram was debited to Shyam ₹ 1,500. 

VII. While carrying forward the total of one page of the Purchases Book to the next, the amount of ₹ 1,235 was 

written as ₹ 1,325. 

 

Find out the nature and amount of the Suspense Account and Pass entries (including narration) for the 

rectification of the above errors in the subsequent year’s books. 

 

Question No. 3                                                                                                                         May 2018 (4 Marks) 

Question No. 4                                                                                                                    Nov. 2018 (10 Marks) 
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Answer 
 

 

(i) P & L Adjustment A/c  

       To Suspense A/c 

(Correction of error by which sales account was overcast last year) 

Dr. 1,000  

   1,000 

(ii) X 

To Y 

(Correction of error by which sale of ₹ 5,000 to X was wrongly 

debited to Y’s account) 

Dr. 5,000  

   5,000 

(iii) Suspense A/c 

To P & L Adjustment A/c 

(Correct of error by which general expenses of ₹ 180 was 
wrongly posted as ₹ 810) 

Dr. 630  

   630 

(iv) Bills Receivable A/c Bills Payable A/c 

To P 

(Correction of error by which bill receivable of ₹ 1,550 was 

wrongly passed through BP book) 

Dr. 1,550  

 Dr. 1,550  

   3,100 

(v) P & L  Adjustment A/c 

        To Mrs. Neetu 

(Correction of error by which legal expenses paid to Mrs. Neetu was 

wrongly debited to her personal account) 

 

Dr. 1,190  

   1,190 

(vi) Suspense A/c 

To Ram  

To Shyam 

(Removal of wrong debit to Shyam and giving credit to Ram from 

whom cash was received) 

Dr. 3,000  

   1,500 

   1,500 

(vii) Suspense A/c 

To P&L Adjustment A/c 

(Correction of error by which Purchase A/c was excess debited 

by ₹90/-, ie: ₹1,325 – ₹1,235) 

Dr. 90  

   90 

 

Suspense A/c 
 

 ₹  ₹ 

To P & L Adjustment A/c 630 By P & L Adjustment A/c 1,000 

To Ram To Shyam 1,500 

1,500 

By Difference in Trial 

Balance (Balancing figure) 

2,720 

To P&L Adjustment A/c 90   

 3,720  3,720 
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Multiple choice Questions 

1. Ram of Kolkata sends out goods costing 1,00,000 to Y of Mumbai at 20% profit on invoice price. 

1/10'" of the goods were lost in transit. 1/2 of the balance goods were sold. The amount of stock 

reserve On consignment stock will be:                                                                                                                                                     

(a)   4,500       (b)   9,000       (c)   11,250        (d) None  

2. On 1st July Krishnan of Chennai consigned 100 bales of cotton to Dheeraj of Hyderabad (Cost 

price 7,500) at a proforma invoice price of 25% profit On sales. Consignment accounted would be 

credited for loading by_                                                                                                                                                                                                                     

(a) 2,000       (b)   1,500     (c)   2,500     (d)  3,300  

3. X of Kolkata sends out 500 bags to Y costing 400 each at an invoice price or 500 each. 

Consignor's A/c expenses 4,000 consignee's expenses, non-selling 1,000, selling 2,000. 400 bags 

were sold. The Stock Reserve will be -                                                                                                                                                                            

(a) 10,000           (b) Nil              (c) 20,000        (d) 20,400  

4. Rabin consigned goods for the value of 8,250 to Raj of Kanpur paid freight etc. of 650 and 

insurance 400. Drew a bill of Raj at 3 months after date for 3,000 as an advance against 

consignment, and discounted the bill for 2960. Received Account sales from Raj showing that part 

of the goods had realized gross 8,350 and that his expenses and commission amounted to 870. 

The stock unsold was valued at 2,750. Consignee wants to remit a draft for the amount due. The 

amount of draft will be:                                                                                                                                                                                          

(a)   2130    (b) 4480   (c) 5130     (d)  5090  

5. X of Kolkata sends out goods costing 1,00,000 to Y of Delhi. 3/5th of the goods were sold by 

consignee for 70,000,  commission 2% on sales plus 20% of gross sales less all commission 

exceeds cost price. The amount of commission will be:                                                                                                                                        

(a) 2833           (b) 2900           (c) 3000          (d) 2800  

6. A of Mumbai sold goods to b of Delhi, the goods are to be sold at 125% of cost which is invoice 

price. Commission 10% on sales at IP and 25% of any surplus realized above IP. 10% of the goods 

sent out on consignment, invoice value of which is 12,500 were destroyed. 75% of the total 

consignment is sold by B at 1,00,000. What will be the amount of commission payable to B?                                                                   

(a) 10,937.50     (b) 10,000     (c) 9,000        (d) 9,700  

7. X of Kolkata sends out goods costing 3,00,000 to Y of Delhi. Commission agreement 2% on sales 

+ 3% on sales as del-credere commission. The entire goods is sold by consignee for 4 lacs. 

However, consignee is able to recover 3,95,000 from the debtors. The amount of profit to be 

transferred to P/L as net commission by consignee will be:                                                                                                                    

(a) 15,000         (b) 22,000     (c) 21,000      (d) 20,000  

8. B sold 50 televisions at 15,000 per television. He was entitled to commission of 500 per 

television sold plus one fourth of the amount by which the gross sale proceeds less total 

commission there on exceeded a sum calculated at the rate of 12,500 per television sold. Amount 

of commission will be -                                                                                                                                                       

(a) 45,000      (b) 50,000       (c) 40,000      (d) 35,000  

 

Consignment 
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9.  1000 kg of apples are consigned to a wholesaler, the cost being 3 per kg plus Rs.400 of freight, 

it is known that a loss of 15% is unavoidable. The cost per kg will be:                                                                                                                              

(a)  5         (b) 4           (c) 3.40         (d)  3  

10. X of Kolkata sends out 2000 boxes to Y of Delhi costing 100 each. Consignor's expenses 5000. 

1/10th of the boxes were lost in consignee's godown and treated as normal Loss 1200 boxes were 

sold by consignee. The value of consignment stock will be                                                                                                                                                           

(a)   68333               (b) 61500            (c)  60000             (d)  60250  

11. Mahendra of Madras sent goods to Jaya of Delhi at an invoice price of 29,675. He paid freight 

762; cartage 231 and insurance 700. On the way one-fourth of the goods was lost by fire and claim 

of 5,000 was recovered from the insurance company.  calculate abnormal loss                                                                                                                

(a) 5,000        (b) 7,842         (c) 2,419      (d) 2,842 

12.X sends out 1000 bag to Y costing 200 each. Consignor's expenses 4000, V's expenses non-

selling 4000, selling 5000, 100 bags were lost in transit. Value of loss in transit will be:                                         

(a)  20,400            (b) 20,800       (c) 20,000         (d)  21,300  

13. 200 cases @ 150 case were sent on consignment. 180 cases @ 250 per case were sold by 

consignee. Expenses incurred by consignor were: freight 1,500, Insurance 850, loading charges 

250. Expenses incurred by consignee were: Unloading 200, Storage 200, selling expenses 100, 

Insurance 150. Find the value of unsold stock                                                                                                                                

(a) 3,315            (b) 3,325       (c) 3,280       (d) 3,295  

14. A of Ahmadabad consigned goods of 10,000 to M of Madras and paid Rs. 500  for expenses. The 

consignee paid 100 for freight and 50 godown rent. 80%of goods were sold and commission of 

500 was paid. Find the value of closing stock                                                                                                                                                       

(a) 2,000           (b) 2,120         (c) 2,100      (d) 2,030  

15.  Goods sent out on consignment 2,00,000. Consignor's expenses 5,000. Consignee's expenses 

2000. cash sales 1,00,000, credit sales 1,10,000. Consignment stock 40,000.. Ordinary commission 

payable to consignee 3,000. Del-credere commission 2,000. The amount irrecoverable from 

customer 2,000. What will be the profit on consignment?                                                                                    

(a) 38,000          (b) 40,000        (c) 36,000        (d) 43,000  

16. Goods sent on consignment 7,60,000. Opening consignment stock 48,000. cash sales 7,00,000. 

Consignor's expenses 20,000. Consignee's expenses 12,000. Commission 20,000. Closing 

consignment stock 3,00,000. The profit on consignment is:                                                                                                                           

(a) 1,50,000        (b) 1,40,000   (c) 92,000       (d) None  
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Practical Questions 

 

Mr. A of Assam sent on 18th February, 2017 a consignment of 1,000 DVD players to  B  of  Bengal  costing  

₹ 100  each.   Expenses  of  ₹ 1,500  were  met  by  the consignor. B spent ₹ 3,000 for clearance and selling 

expenses were ₹ 20 per DVD player. 

B sold on 15th March, 2017, 600 DVD players @ ₹ 160 per DVD player and again on 20th May, 2017, 300 

DVD players @ ₹ 170 each. 

B is entitled to a commission of ₹ 25 per DVD player sold plus ¼ of the amount by which the gross sale 

proceeds less total commission thereon exceeded a sum calculated @ ₹ 125 per DVD player sold. B sent 

the amount due to A on 30th June, 2017. 

You are required to prepare the consignment account and B’s account in the books of A. 
 

Answer 

 
In the books of A 

Consignment Account 
 

Dr.  Amount Cr.  Amount 

  ₹   ₹ 

2017   2017   

Feb. 

18 

To Goods Sent on 

Consignment account 1,00,000 

March 15 By B’s account 

(Sales) (600 x ₹ 160) 96,000 

Feb.  

18 

To Cash/Bank account 

(Expenses) 1,500 

May 20  By B’s account (Sales) 

(300 x ₹ 170) 51,000 

Feb. 

18 

To B’s account (Clearance 

charges) 
3,000 

June 30 
By Consignment Stock 

(Working note 2) 10,450 

June 

30 

To B’s account: Selling expenses 

(900 x ₹ 20) 18,000 

 

  

 Commission (Working note 1) 
24,900 

 
  

June 

30 

To Profit and loss account 

(profit  on consignment 

transferred) 10,050 

 

  

  1,57,450   1,57,450 

 

B’s Account 
 

Dr.  Amount Cr.  Amount 

  ₹   ₹ 

2017   2017   

March 

15 

To Consignment 

Account (Sales) 96,000 

Feb 

18 

By Consignment account 

(Clearance charges) 3,000 

May 

20 

To Consignment 

Account (Sales) 51,000 

June 

30 

By Consignment account: 

Selling expenses 

Commission 

18,000 

24,900 

   

June 

30 By Cash/Bank account 1,01,100 

  1,47,000   1,47,000 

 

Question No. 1                                                                                                                                                                 RTP  May 2018 
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Working Notes: 
 

1. Calculation of total commission: Let total commission be 

 

x = 900 × ₹ 25 + ¼  [(₹ 96,000 + ₹ 51,00
 

x = ₹ 22,500 + ¼ [₹ 1,47,000 – x – ₹ 1,12,500]
 

x  = ₹ 22,500 +  ¼  [₹ 34,500 – x] 

 

4x + x = ₹ 90,000 + ₹ 34,500 

 

5x = ₹ 1,24,500 

 

x = ₹ 24,900 
 

 

2. Valuation of consignment stock:

 

100 DVD players @ ₹ 100 each 

Add: Proportionate expenses of A  (₹ 1,500

Proportionate expenses paid by B  (₹3,000

 

 

 

 

On 1.1.2018, Mr. Jill of Mumbai consigned to Mr. Jack of Chennai goods for sale at invoice price. Mr. Jack is entitled 

to a commission of 5% on sales at invoice price and 20% of any surplus price realized over and above the invoice 

price. Goods costing ₹ 1,00,000 were consigned to Chennai at the invoice price of ₹ 1,50,000. The direct expenses 

of the consignor amounted to ₹ 10,000. On 31.3.2018, an account sales was received by Mr. Jill from Mr. Jack 

showing that he had effected sales of ₹ 1,20,000 i

actual expenses were ₹ 3,000. Mr. Jack accepted a bill drawn by Mr. Jill for ₹ 1,00,000 and remitted the balance due 

in cash. 

 

You are required to prepare the consignment account and the acc

 

Date 

2018 

Particulars 

Jan. 1 To Goods sent on 

Consignment A/c 

(Invoice price) 

1,50,000

Mar.31 To Bank A/c Consignor’s 

Expenses 

10,000

Mar.31 To Jack  

– Expenses 

 

 – Commission* 

(0.05 x ₹ 1,20,000) 

Mar.31 To Stock Reserve 10,000

Question No. 2                                                                                                                             

 

Calculation of total commission: Let total commission be x 

000) – x – (900 × ₹ 125)]  

1,12,500] 
 

 

Valuation of consignment stock: 

10,000 

1,500 × 100)/ 1,000 150 

3,000 ×100) /1,000 300 

10,450 

On 1.1.2018, Mr. Jill of Mumbai consigned to Mr. Jack of Chennai goods for sale at invoice price. Mr. Jack is entitled 

to a commission of 5% on sales at invoice price and 20% of any surplus price realized over and above the invoice 

₹ 1,00,000 were consigned to Chennai at the invoice price of ₹ 1,50,000. The direct expenses 

₹ 10,000. On 31.3.2018, an account sales was received by Mr. Jill from Mr. Jack 

₹ 1,20,000 in respect of 4/5th of the quantity of goods consigned to him. His 

₹ 3,000. Mr. Jack accepted a bill drawn by Mr. Jill for ₹ 1,00,000 and remitted the balance due 

You are required to prepare the consignment account and the account of Mr. Jack in the books of Mr. Jill.

Answer 
In the books of Mr. Jill 

Consignment Account 

 
₹ Date 

2018 

Particulars

1,50,000 Jan. 1 By Goods sent on Consignment 

A/c (Loading) 

 ₹ (1,50,000 – 1,00,000)

10,000 Mar.31 By Jack – Sales 

3,000 Mar.31 By Stock on Consignment A/c

1/5 x ₹ 

(1,50,000+10,000+3,000)

6,000   

10,000   

                                                                                                                                                                

Consignment 

 

On 1.1.2018, Mr. Jill of Mumbai consigned to Mr. Jack of Chennai goods for sale at invoice price. Mr. Jack is entitled 

to a commission of 5% on sales at invoice price and 20% of any surplus price realized over and above the invoice 

₹ 1,00,000 were consigned to Chennai at the invoice price of ₹ 1,50,000. The direct expenses 

₹ 10,000. On 31.3.2018, an account sales was received by Mr. Jill from Mr. Jack 

n respect of 4/5th of the quantity of goods consigned to him. His 

₹ 3,000. Mr. Jack accepted a bill drawn by Mr. Jill for ₹ 1,00,000 and remitted the balance due 

ount of Mr. Jack in the books of Mr. Jill. 

Particulars ₹ 

Goods sent on Consignment 

1,00,000) 

50,000 

1,20,000 

Stock on Consignment A/c 

(1,50,000+10,000+3,000) 

32,600 

 

 

                                   RTP  Nov. 2018 
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A/c (₹ 50,000 x 1/5) 

 

 To Profit on Consignment  

A/c (transferred to 

Profit  and Loss A/c) 

23,600    

  2,02,600   2,02,600 

 

 

*Invoice price of goods sold: = 4/5 of ₹ 1,50,000 = ₹ 1,20,000. 

 

The goods were sold for ₹ 1,20,000 and hence there was no surplus price. Therefore, extra commission @ 20% will 

not be given to Mr. Jack. 
 

Jack’s Account 

Particulars ₹ Particulars ₹ ₹ 

To Consignment A/c -  By Consignment A/c:   

Sales 1,20,000 Expenses 3,000  

  Commission 6,000 9,000 

  By Bills Receivable A/c  1,00,000 

  
By Bank  A/c  (Balancing figure)  

11,000 

 1,20,000   1,20,000 
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MCQ’S 

1. A and B are partner sharing profits and losses in the ratio 5:3. On admission, C brings ₹  70,000 cash and 

₹  48,000 cash against Goodwill. New profit sharing ratio between A,B,C is 7:5:4. The sacrificing ratio 

among A and B is: 

A. 3:1   B. 4:7   C. 5:4   D. 2:1 

 

2. A and B are partners sharing profits in the ratio 7:3. C is Admitted as new partner. ‘A’ surrenders 1/7 of 

his share and B’s Surrenders 1/3rd of his share in favour of C. the new profit sharing ratio will be: 

A. 6:2:2  B. 4:1:1  C. 3:2:2  D. None. 

 

 

3. A and B are partners sharing profits in the ratio 5:3, they admitted C giving him 3/10th share of profit. If 

C acquires 1/5th share from A and 1/10th from B, new profit sharing ratio will be: 

A. 5:6:3.  B. 2:4:6.  C. 18:24:38.  D. 17:11:12 

 

4. A, B and C are partners sharing profits in the ratio 2:2:1. On retirement of B, goodwill was valued as ₹  

30,000. Find the contribution of A and C to compensate B. 

A. ₹  20,000 and ₹  10,000.   B. ₹  8,000 and ₹  4,000.  

C. They will not contribute anything. D. Information is insufficient for any comment. 

 

5. A and B are partners in a firm sharing profits in the ratio of 3:2. They admit C as the new partner for 

1/6th share in the profits. The firm goodwill was valued at ₹ 1,50,000/-. For adjustment of goodwill, C’s 

account will be debited by 

A. ₹ 20,000. B. ₹ 15,000. C. ₹ 25,000. D. None of the three. 

                                                                           

6. A firm has on average profit of ₹ 60,000. Rate of return on capital employed is 12.5% p.a. Total capital 

employed in the firm was ₹ 4,00,000. Goodwill on the basis of two years purchase of super profits is 

A. ₹ 20,000  B. ₹ 15,000  C. ₹ 10,000   D. None of the above. 

 

7. Find the goodwill of the firm using capitalization method from the following information: Total capital 

employed in the firm ₹  80,00,000. Reasonable rate of return 15% Profits for the year ₹  12,00,000 

A. ₹  68,00,000. B. ₹  12,00,000. C. ₹  11,88,000. D. Nil. 

 

8. A firm earns profit of ₹ 1,10,000. The normal rate of return in a similar type of business is 10%. The 

value of total assets (excluding goodwill) and total outside liabilities are ₹ 11,00,000 and ₹ 1,00,000 

respectively. The value of goodwill is 

A. ₹ 1,00,000 B. ₹ 10,00,000 C. Nil.   D. None of the above. 

 

9. X and Y are partners sharing profits and losses in the ratio 5:3. They admitted Z for 1/5th share of profits, 

for which he paid ₹  1,20,000 against capital and ₹  60,000 against the Goodwill. Find the capital balances 

for each partner taking Z’s capital as base capital: 

A. ₹  3,00,000, ₹  1,20,000, and ₹  1,20,000  

B. ₹  3,00,000, ₹  1,20,000, and ₹  1,80,000 

C. ₹  3,00,000, ₹  1,80,000, and ₹  1,20,000 

D. ₹  3,00,000, ₹  1,80,000, and ₹  1,80,000 

 

10. A and B are partners of a firm sharing profits in the ratio of 3:2. C was admitted for 1/5th share of profit. 

Machinery would be appreciated by 10% (Block value ₹  80,000) and Building would be depreciated by 

20% (₹  2,00,000). Unrecorded debtors of ₹  1,250 would be bought to books and creditors of ₹  2,750 died 

and needn’t to pay anything. What will be the Profit /Loss on Revaluation? 

A. Loss  ₹  28,000   B. Loss  ₹  40,000  

C. Profit  ₹  28,000   D. Profit ₹  40,000 

Partnership Accounts 

97



TeachMe Academy        (88887 88889) Partnership Accounts 

 

By CMA, CS Rohan Nimbalkar    
 

11. At the time of admission of new partner in a firm, the journal entry for an unrecorded investment of ₹  

30,000 will be: 

A. Revaluation A/c………………………….Dr.   30,000  

 To Unrecorded Investment A/c       30,000 

B. Unrecorded Investment A/c ………….Dr.        30,000 

 To revaluation A/c           30,000  

C. Partner’s Capital A/c …………………..Dr.    30,000 

 To Unrecorded Investment A/c      30,000 

D. Unrecorded Investment A/c …………..Dr.    30,000 

 To Partners capital A/c       30,000 

 

12. Mr. X is a partner in a firm. He withdraws ₹ 200 at the end of each month. If rate of interest is @ 5% p.a., 

the interest on drawings is 

A. ₹ 65  B. ₹ 55  C. ₹ 60  D. ₹ 50 

 

13. Rishi is a partner in a firm. He withdrew the following amounts during the year ended on 31st 

December, 2009. 

February 1    ₹  12,000 

April 30    ₹  6,000 

June 30    ₹  9,000 

August 31    ₹  12,000 

October 1    ₹  8,000 

December 31   ₹  7,000 

Interest on drawings @ 9% p.a. will be 

A. ₹  2,295   B. ₹  2,000  C. ₹  2,200   D. None of the above 

 

14. The profit of the M/s ABC, a partnership firm before charging managerial commission is ₹  44,000. The 

managerial commission is charged @ 10% on profit after charging such commission. The amount of 

managerial commission will be 

A. ₹ 4,400   B. ₹ 40,000  C. ₹ 4,000  D. ₹ 39,600. 

 

 

15. A, B, and C are partners sharing profits and losses in the ratio of ½, 3/10, and 1/5. B retires from the 

firm, A and C decided to share the future profits and losses in 3:2. Calculate gaining ratio: 

A. 1:2  B. 3:2  C. 2:3  D. None 

 

16. A, B and C are partners with profits sharing ratio 4:3:2. B retires. If A & C shares profits of B in 5:3, then 

find the new profit sharing ratio. 

A. 47:25.   B. 17:11.   C. 31:11.  D. 14:21. 

 

17. A, B, and C were partners in a firm sharing profits and losses in the ratio of 2:2:1. The capital balances 

of A, B, and C are ₹  50,000, ₹  50,000 and ₹  25,000 respectively. B declared to retire from the firm on 1st 

April, 2008. Balances on reserves on the date was ₹  15,000. If goodwill of the firm was valued as ₹  30,000 

and profit on revaluation was ₹  7,050, then what amount will be transferred to the loan account of B? 

A. ₹  70,820 B. ₹  50,820 C. ₹  25,820 D. ₹  20,820 

 

18. X, Y, Z are partners sharing profits and losses equally. They took a joint life policy of ₹  5,00,000 with a 

surrender value of ₹  3,00,000. The firm treats the insurance premium as an expenses Y retired and Z and 

Z decided to share profits and losses in 2:1. The amount of Joint Life Policy will be transferred as:  

A. Credited to X, Y and Z’s capital Accounts with 1,00,000 each  

B. Credited to X, Y and Z’s capital Account with 1,66,667 each 

C. Credited to X, and Z capital accounts with ₹  2,50,000 each 

D. Credited to Y’s capital account with ₹  3,00,000 each 

 

 

19. A, B and C takes a Joint Life Policy, after five years B retires from the firm. Old profit sharing ratio is 

2:2:1. After retirement A and C decides to share profits equally. They had taken a Joint Life Policy of ₹  
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2,50,000 with the surrender value ₹  50,000. What will be the treatment in the partner’s capital account on 

receiving the JLP amount if joint life policy premium is fully charged to revenue as and when paid? 

A. ₹  50,000 credited to all the partners in old ratio. 

B. ₹  2,50,000 credited to all the partners in old ratio. 

C. ₹  2,00,000 credited to all the partners in old ratio. 

D. No treatment is required. 

 

20. A, B and C takes a Joint Life Policy, after five years, B retires from the firm. Old profit sharing ratio is 

2:2:1. After retirement A and C decides to share profits equally. They had taken a Joint Life Policy of ₹  

2,50,000 with the surrender value ₹  50,000. What will be the treatment in the partner’s capital account on 

receiving the JLP amount if joint life policy is maintained at the surrender value? 

A. ₹  50,000 credited to all the partners in old ratio. 

B. ₹  2,50,000 credited to all the partners in old ratio. 

C. ₹  2,00,000 credited to all the partners in old ratio. 

D. No treatment is required. 

 

21. A, B and C takes a Joint Life Policy, after five years B retires from the firm. Old profit sharing ratio is 

2:2:1. After retirement A and C decides to share profits equally. They had taken a Joint Life Policy of ₹  

2,50,000 with the surrender value ₹  50,000. What will be the treatment in the partner’s capital account on 

receiving the JLP amount if joint life policy is maintained at surrender value along with the reserve? 

A. ₹  50,000 credited to all the partners in old ratio.  

B. ₹  2,50,000 credited to all the partners in old ratio. 

C. ₹  2,00,000 credited to all the partners in old ratio. 

D. Distribute JLP Reserve Account in old profit sharing ratio. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Practical Questions 
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On 31st March, 2017, the Balance Sheet of P, Q and R sharing profits and losses in  proportion to their 

Capital stood as below: 

 

 

 

 

On 1st April, 2017, P desired to retire from the firm and remaining partners decided to carry on the 

business.  It was agreed to revalue the assets and liabilities on that date on the following basis: 

(i) Land and Building be appreciated by 20%. 

(ii) Plant and Machinery be depreciated by 30%. 

(iii) Stock of goods to be valued at ₹10,000. 

(iv) Old credit balances of Sundry creditors, ₹2,000 to be written back. 

(v) Provisions for bad debts should be provided at 5%. 

(vi) Joint life policy of the partners surrendered and cash obtained ₹ 7,550. 

(vii) Goodwill of the entire firm is valued at ₹14,000 and P’s share of the goodwill is adjusted in 

the A/cs of Q and R, who would share the future profits equally.  No goodwill account being 

raised. 

(viii) The total capital of the firm is to be the same as before retirement.  Individual capital is in their 

profit sharing ratio. 

(ix) Amount due to Mr. P is to be settled on the following basis: 50% on retirement and the balance 50% 

within one year. 

(x)  

Prepare (a) Revaluation account, (b) The Capital accounts of the partners, (c) Cash account and (d) 

Balance Sheet of the new firm M/s Q & R as on 1.04.2017. 

 

Answer 

(a) Revaluation Account 
 

Date Particulars ₹ Date Particulars ₹ 

2017 

April 

To Plant & Machinery 

To Stock of goods 

To Provision for bad and 

doubtful debts 

To Capital accounts 

(profit  on  revaluation 

transferred) 

Mr. P (2/7) 2,000 

Mr. Q (3/7) 3,000 

Mr. R (2/7) 2,000 

6,000 

2,000 

550 

 

 

 

 

 

 
7,000 

15,550 

2017 

April 
 
By Land and building 

By Sundry creditors 

By Cash & Bank - 

Joint life Policy 

surrendered 

 
6,000 

2,000 

 
7,550 

 

 

 

 
 

15,550 

(b) Partners’ Capital Accounts 

 
 

Dr. Cr. 

Question No. 1                                                                                                                                                               RTP  May 2018 

Liabilities ₹ Assets ₹ 

Capital Account:  Land and Building 30,000 

Mr. P 20,000 Plant and Machinery 20,000 

Mr. Q 30,000 Stock of goods 12,000 

Mr. R 20,000 Sundry debtors 11,000 

Sundry Creditors 10,000 Cash and Bank 

Balances 

7,000 

 80,000  80,000 
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Particulars P Q R Particulars P Q R 

 (₹) (₹) (₹)  (₹) (₹) (₹) 

To P’s Capital 
A/c - goodwill 

To Cash & bank 
A/c - (50% 
dues paid) 

To P’s Loan A/c 
-(50% transfer) 

To Balance c/d 

- 
 

13,000 
 
 

13,000 
 

- 
 
 
 
 
 

26,000 

 1,000 
 

- 
 
 

- 
 

35,000 
 
 
 
 
 

36,000 

 3,000 
 

- 
 
 

- 
 

35,000 
 
 
 
 
 

38,000 

By Balance b/d 
 

By Revaluation 
A/c 
 

By Q   &   R’s 
Capital  A/cs 
- goodwill 

By Cash & bank 
A/c - amount 
brought in 
(Balancing 
figures) 

 20,000 
 

2,000 
 
 

4,000 
 
 

- 
 
 
 
 

26,000 

 30,000 
 

3,000 
 
 

- 
 
 

3,000 
 
 
 
 

36,000 

20,000 
 

2,000 
 
 

- 
 
 

16,000 
 
 
 
 

38,000 

(c) Cash and Bank Account 
 

Particulars ₹ Particulars ₹ 

To Balance b/d 

To Revaluation  A/c - 
surrender  value  of 
joint life policy 

To Q’s Capital A/c 

To R’s Capital A/c 

7,000 
 
 

7,550 

3,000 

16,000 

33,550 

By P’s Capital A/c - 50% dues paid 

By Balance b/d 

13,000 

20,550 
 
 
 
 
 
33,550 

 

(d) Balance Sheet of M/s Q & R as on 01.04.2017 
 

Liabilities  ₹ Assets  ₹ 

Partners’ Capital account 

Mr. Q 
 
Mr. R 

Mr. P’s Loan account 
 
Sundry Creditors 

  
35,000 
 
35,000 

  
 
 

70,000 

13,000 
 
8,000 

 
 
 
 
 
 
 

91,000 

Land and Building 

Add: Appreciation 20% 

Plant & Machinery 

Less: Depreciation 30% 

Stock of goods 

Less: revalued 

Sundry Debtors 

Less: Provision for 
bad debts 5% 

Cash & Bank balances 

 30,000 

6,000 

20,000 
6,000 

12,000 

2,000 

11,000 
 
550 

 
36,000 
 

14,000 
 

10,000 
 
 

10,450 

20,550 

 

 

91,000 

 

  

 

 

Working Notes: 

Adjustment for Goodwill: 
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Goodwill of the firm = 14,000 

Mr. P’s Share (2/7) = 4,000 

Gaining ratio of Q & R;  

Q = ½ - 3/7 = 1/14  

R = ½ - 2/7 = 3/14  

 Q:R = 1:3 

 

Therefore, Q will bear - ¼ X 4000 or ₹1,000  

                      R will bear = ¾ X 4000 or ₹3,000 

 

 

 

 

Neha & Co. is a partnership firm with partners Mr. P, Mr. Q and Mr. R, sharing profits and losses in the ratio of 

10:6:4. The balance sheet of the firm as at 31st March, 2018 is as  under: 

 
Liabilities  ₹ Assets ₹ 

Capitals: 

Mr. P 

Mr. Q 

Mr. R 

 

Reserves 

(un-appropriated profit) 

Long Term Debt 

Bank Overdraft 

Trade payables 

 
80,000 

20,000 

30,000 

 

 

 
1,30,000 

 
20,000 

 

3,00,000 

44,000 

1,70,000 

Land 

Buildings 

Plant and machinery 

Furniture 

Investments 

Inventories 

Trade receivables 

10,000 

2,00,000 

1,30,000 

43,000 

12,000 

1,30,000 

1,39,000 

 

6,64,000 6,64,000 

 

 

It was mutually agreed that Mr. Q will retire from partnership and in his place Mr. T will be admitted as a 

partner with effect from 1st April, 2018. For this purpose, the following adjustments are to be made: 

a) Goodwill is to be valued at ₹1 lakh but the same will not appear as an asset in the books of the 

reconstituted firm. 

b) Buildings  and  plant  and  machinery  are  to  be  depreciated  by 5%  and  20% respectively. 

Investments are to be taken over by the retiring partner at ₹ 15,000. Provision of 20% is to be made 

on Trade receivables to cover doubtful debts. 

c) In the reconstituted firm, the total capital will be ₹ 2 lakhs which will be contributed by Mr. P, Mr. R 

and Mr. T in their new profit sharing ratio, which is 2:2:1. 

i. The surplus funds, if any, will be used for repaying bank overdraft. 

ii. The amount due to retiring partner shall be transferred to his loan account. 

Required: 

Prepare 

(a)   Revaluation account; 

(b)   Partners’ capital accounts; 

(c)   Bank account; and 

(d)   Balance sheet of the reconstituted firm as on 1st April, 2018. 

 

 

 

Answer 
 

Question No. 2                                                                                       RTP  Nov.  2018 , Mock Test April 2019 (10 Marks) 
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Revaluation Account 
 

 ₹  ₹ 

To Buildings A/c 

To Plant and Machinery A/c 

To Provision for Doubtful Debts 
A/c 

10,000 

26,000 

27,800 

By Investments A/c 

By Loss to Partners: 

P 30,400 

Q 18,240 

R 12,160 

3,000 
 
 
 
 

60,800 

63,800 63,800 

 

Capital Accounts of Partners 
 

Particulars P Q R T Particulars P Q R T 

 ₹ ₹ ₹ ₹  ₹ ₹ ₹ ₹ 

To  Revaluation  

 

To  Invt. A/c 

 

To  Q’s  Loan A/c 

 

To  P  and  Q’s 

Capital A/c 

 

To  Balance c/d 

30,400 

 
- 

 
- 

 

 

 

 
            

80,000 

 

18,240 

 
15,000 

 
22,760 

 

 

 

 
- 

 

12,160 

 
- 

 
- 

 
 

20,000 

 

 
80,000 

 

- 

 
- 

 
- 

 
 

20,000 

 

 
40,000 

 

By  Balance b/d 

 

By  Reserves A/c 

 

By  R   and   T’s 

Capital A/c 

By  Bank    A/c 

(balancing figure) 

80,000 

 
10,000 

 
10,000 

 
10,400 

 

 

 

 
 

20,000 

 
6,000 

 
30,000 

 
- 

 

 

 

 
 

30,000 

 
4,000 

 
- 

 
78,160 

 

 

 

 
 

- 

 
- 

 
- 

 
60,000 

 

 

 

 
 

 
1,10,400 56,000 1,12,160 60,000  1,10,400 56,000 1,12,160 60,000 

 

Bank Account 
 

 ₹  ₹ 

To P’s capital A/c 

To R’s capital A/c 

To T’s capital A/c 

10,400 

78,160 

60,000 

By Bank Overdraft A/c 

By Balance c/d 

44,000 

1,04,560 

1,48,560 1,48,560 

 

Balance Sheet of NEHA Co.as at 1st April, 2018 

  

Liabilities ₹ ₹ Assets ₹ ₹ 

Capital Accounts:   Land  10,000 

P 80,000  Buildings  1,90,000 

Q 80,000  Plant and Machinery  1,04,000 

R 40,000 2,00,000 Furniture  43,000 

Long Term Debts  3,00,000 Inventories  1,30,000 

Trade payables  1,70,000 Trade receivables  1,39,000 
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A and B are partners in a firm, sharing Profits and Losses in the ratio of 3 : 2.  The Balance Sheet of A  and B as on 

1.1.2018 was as follow: 

 

Liabilities Amount 
₹ 

Amount 
₹ 

Assets Amount 
₹ 

Amount 
₹ 

Sundry Creditors  12,900 Building  26,000 

Bill Payable  4,100 Furniture  5,800 

Bank Overdraft  9,000 Stock-in-Trade  21,400 

Capital Account:   Debtors  35,000 

A 44,000  Less: Provision 200 34,800 

B 36,000 80,000 Investment  2,500 

   Cash  15,500 

  1,06,000   1,06,000 

 

 ‘C’ was admitted to the firm on the above date on the following terms: 

(i) He is admitted for 1/6th share in future profits and to introduce a Capital of ₹ 25,000. 
(ii) The new profit sharing ratio of A, B and C will be 3 : 2 : 1 respectively. 
(iii) ‘C’ is unable to bring in cash for his share of goodwill, partners therefore, decide to raise goodwill 

account in the books of the firm.  T hey further decide to calculate goodwill on the basis of ‘C’s 
share in the profits and the capital contribution made by him to the firm. 

(iv) Furniture is to be written down by ₹ 870 and Stock to be depreciated by 5%.  A provision is 
required for Debtors @ 5% for Bad Debts.  A provision would also be made for outstanding wages 
for ₹ 1,560.  The value of Buildings having appreciated be brought upto ₹ 29,200.  The value of 
investment is increased by ₹ 450. 

(v) It is found that the creditors included a sum of ₹ 1,400, which is not to be paid off.  
 

Prepare the following: 

(i) Revaluation Account. 
(ii) Partners’ Capital Accounts. 
(iii) Balance Sheet of New Partnership firm after admission of ‘C’. 

 

 

 

 

 

 

Answer  
(i) Revaluation Account 

  

Q’s Loan Account  22,760 Less: Provision for 
Doubtful Debts 

(27,800) 1,11,200 

   Balance at Bank  1,04,560 

  6,92,760   6,92,760 

Question No. 3                                                                                                                                                         RTP May 2019 
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 ₹  ₹ 

To Furniture 870 By Building 3,200 

To Stock 1,070 By Sundry creditors 1,400 

To Provision   of   doubtful debts 

(₹1,750 -1,550 ₹ 200) 

1,550 By Investment 450 

To Outstanding wages 1,560   

 5,050  5,050 

 

(ii) Partners' Capital Accounts 
 

 A B C  A B C 

 ₹ ₹ ₹  ₹ ₹ ₹ 

To Balance c/d 71,000 54,000 25,000 By Balance b/d 44,000 36,000 - 

    By Cash A/c - - 25,000 

  

 
 

  

 
 

By Goodwill A/c 

(Working Note) 

27,000 18,000  

 71,000 54,000 25,000  71,000 54,000 25,000 

 

(iii) Balance Sheet of New Partnership Firm (after admission of C) as on 1.1.18 
 

 

Liabilities ₹ Assets ₹ 

Capital Accounts: 

A 71,000 

B 54,000 

C 25,000 

Bills Payable 

Bank Overdraft 

Sundry creditors 

(12,900-1,400) 

Outstanding wages 

 

 

 
1,50,000 

4,100 

9,000 

11,500 

 
1,560 

1,76,160 

Goodwill 

Building (26,000 + 3,200) 

Furniture (5,800 - 870) 

Stock-in-trade (21,400 - 1,070) 

Debtors 35,000 

Less: Provision for bad debts (1,750) 

Investment (2,500 + 450) 

 
Cash (15,500 + 25,000) 

45,000 

29,200 

4,930 

20,330 

 
33,250 

2,950 

 
40,500 

1,76,160 

 

Working Note: 

 

Calculation of goodwill 

 

C's contribution of ₹ 25,000 consists only 1/6th of capital. 

Therefore, total capital of firm should be ₹ 25,000 × 6 = ₹ 1,50,000. 

But combined capital of A, B and C amounts ₹ 44,000 + 36,000 + 25,000 = ₹ 1,05,000. 

 

Thus Hidden goodwill is ₹ 45,000 (₹ 1,50,000 - ₹ 1,05,000). 

 
 

 

A, B and C are partners sharing profits in the ratio of 3:2:1. Their Balance Sheet as at 31st March, 2018 stood 
as: 

 

Question No. 4                                                                                                                                       May 2018 (10 Marks) 
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Liabilities  ₹ Assets  ₹ 

Capital Accounts 

A 

B 

C 

Sundry Creditors 

General Reserves 

 

8,00,000 

4,20,000 

4,00,000 

 
 
 

16,20,000 

3,70,000 

3,60,000 
 
 
 

 

Building 

Furniture 

Office equipments 

Stock 

Sundry debtors 

Less: Provision for 
Doubtful debts 

Joint life policy 

Cash at Bank 

 
 
 
 
 

3,00,000 
 

30,000 

10,00,000 

2,40,000 

2,80,000 

2,50,000 
 
 

2,70,000 

1,60,000 

1,50,000 

  23,50,000   23,50,000 

 

B retired on 1st April, 2018 subject to the following conditions: 

(i) Office Equipments revalued at ₹ 3,27,000. 
(ii) Building revalued at ₹ 15,00,000. Furniture is written down by ₹ 40,000 and Stock is reduced to ₹ 

2,00,000 . 
(iii) Provision for Doubtful Debts is to be created @ 5% on Debtors. 
(iv) Joint Life Policy will appear in the Balance Sheet at surrender value after B's retirement. The 

surrender value is ₹ 1,50,000 
(v) Goodwill was to be valued at 3 years purchase of average 4 years profit which were: 

 
 

Year ₹ 

2014 90,000 

2015 1,40,000 

2016 1,20,000 

2017 1,30,000 

(vi)  Amount due to B is to be transferred to his Loan Account. 

Prepare the Revaluation Account, Partners' Capital Accounts and the Balance Sheet immediately after B's 
retirement. 

 

Answer  
Revaluation Account 

 

 ₹  ₹ 

To Furniture A/c 

To Stock A/c 

To Joint life policy 

To Partners’ capital A/cs: 

A 2,31,000 

B 1,54,000 

C 77,000 

40,000 

50,000 

10,000 

 

 
                    

4,62,000 

By Office equipment A/c 

By Building A/c 

By Provision for 

doubtful debts 

47,000 

5,00,000 

 
15,000 

 

 
 

 5,62,000  5,62,000 

Partners’ Capital Accounts 
 

 A 

₹ 

B 

₹ 

C 

₹ 

 A 

₹ 

B 

₹ 

C 

₹ 
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To  B’s 
Capital A/c 

To  B’s loan A/c 

To Balance c/d 

90,000 
 
 

11,21,000 

- 
 

8,14,000 

30,000 
 
 

5,07,000 

By Balance b/d 

By General Reserve 

By   revaluation 
reserve 

By   A’s   capital A/c 

By   C’s   capital A/c 

8,00,000 

1,80,000 

2,31,000 

4,20,000 

1,20,000 

1,54,000 
 

90,000 

30,000 

4,00,000 

60,000 

77,000 

12,11,000 8,14,000 5,37,000 12,11,000 8,14,000 5,37,000 

 

Balance Sheet as on 1.4.2018 (After B’s retirement) 

 

Liabilities ₹ ₹ Assets ₹ ₹ 

Capital accounts:   Building  15,00,000 

A 11,21,000  Furniture  2,00,000 

C 5,07,000 16,28,000 Office equipment  3,27,000 

B’s loan account  8,14,000 Stock  2,00,000 

Sundry creditors  3,70,000 Sundry debtors  3,00,000 

   Less: Provision for 

doubtful debts 
(15,000) 2,85,000 

   JLP  1,50,000 

   Cash at bank  1,50,000 

  28,12,000   28,12,000 

 

Working Notes: 

Calculation of goodwill: 

1. Average of last 4 year’s profit 

= (90,000+1,40,000+1,20,000+1,30,000)/4 = ₹ 1,20,000 

2. Goodwill at three years’ purchase  
= ₹ 1,20,000 x 3 = ₹ 3,60,000 

    

Goodwill adjustment 
 

 Share of goodwill 

(Old ratio) 

Share of goodwill 

(New ratio) 

Adjustment 

A 

B 

C 

1,80,000 

1,20,000 

60,000 

2,70,000 

- 

90,000 

90,000 (Dr.) 

1,20,000 (Cr.) 

30,000 (Dr.) 
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Multipal Choice Questions 
 

1. The books of T Ltd. revealed the following information: 

Particular  ₹ 

Opening inventory  6,00,000 

Purchases during the year 2010-2011  34,00,000 

Sales during the year 2010-2011  48,00,000 

 

      On March 31, 2011, the value of inventory as per physical Inventory-taking was Rs. 3,25,000. The 

company’s gross profit on sales has remained constant at 25%. The management of the company 

suspects that some inventory might have been pilfered by a new employee. What is the estimated 

cost of missing inventory? 

       A.Rs. 75,000  B.Rs. 25,000  C.Rs. 1,00,000  D.Rs. 1,50,000. 

 

Practical Questions 

 

 

Question No. 1 

M/s  X,  Y and Z are in retail business, following information are obtained from their records for the 

year ended 31st March, 2016: 

 

Goods received from suppliers (subject to trade discount and taxes) ₹15,75,500 

Trade discount 3% and sales tax 11%  

Packaging and transportation charges ₹87,500 

Sales during the year ₹22,45,500 

Sales price of closing inventories ₹2,35,000 

 

Find out the historical cost of inventories using adjusted selling price method. 

 

 

Question No. 2 

A trader prepared his accounts on 31st March, each year. Due to some unavoidable reasons, no inventory 

taking could be possible till 15th April, 2017 on which date the total cost of goods in his godown came 

to ₹ 5,00,000. The following facts were established between 31st March and 15th April, 2017. 

(i)  Sales  ₹ 4,10,000 (including cash sales ₹ 1,00,000) 

(ii)  Purchases  ₹ 50,340 (including cash purchases ₹ 19,900) (iii)  Sales Return ₹ 10,000. 

Goods are sold by the trader at a profit of 20% on sales. 

You are required to ascertain the value of inventory as on 31st March, 2017. 

 

 

Inventories 
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Question No. 3 

The following are the details of a spare part of Sriram Mills: 

 

1-1-2016 Opening Inventory Nil 

1-1-2016 Purchases 100 units @ ₹ 30 per unit 

15-1-2016 Issued for 

consumption 

50 units 

1-2-2016 Purchases 200 units @ ₹ 40 per unit 

15-2-2016 Issued for 

consumption 

100 units 

20-2-2016 Issued for 

consumption 

100 units 

 

Find out the value of Inventory as on 31-3-2016 if the company follows Weighted Average basis.  
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Mr. B accepted a bill for ₹ 10,000 drawn on him by Mr. A on 1st August, 2017 for 3 months. This was for the 

amount which B owed to A . On the same date Mr. A got the bill discounted at his bank for ₹ 9,800. 

 

On the due date, B approached A for renewal of the bill. Mr. A agreed on condition that ₹ 2,000 be paid 

immediately along with interest on the remaining amount at 12% p.a. for 3 months and that for the remaining 

balance B should accept a new bill for 3 months. These arrangements were carried through. On 31st December, 

2017, B became insolvent and his estate paid 40%. 
 

Prepare Journal Entries in the books of Mr. A 

 

Answer 
 

Date Particulars L.F. Dr. Cr. 

   Amount ₹ Amount ₹ 

2017 

August 1 

Bills Receivable A/c.......................Dr. 

        To B 
(Being the acceptance received from B to settle his 

account) 

 10,000  

10,000 

1 August 

 

Bank A/c.....................................Dr. 

Discount A/c.........................Dr. 

           To Bills Receivable 
(Being the bill discounted for ₹ 9,800  from bank) 

 9,800 

200 

 

 

10,000 

4 November 

 

B...........................................................Dr. 

           To Bank Account 
(Being  the  B’s  acceptance  is  to  be renewed) 

 10,000  

10,000 

4 November 

 

B      ....................................Dr. 

         To Interest Account 
(Being  the  interest  due  from  B  for  3 months i.e., 

8000 x 3/12× 12%=240) 

 240  

240 

4 November 

 

Cash A/c ..................................Dr. 

Bills Receivable A/c.................Dr. 

               To B 
(Being amount and acceptance of new bill received 

from B) 

 2,240 

8,000 

 

 

10,240 

31 

December 

 

B A/c ..............................Dr. 

           To Bills Receivable A/c 
(Being B became insolvent) 

 8,000  

8,000 

31 

December 

 

Cash A/c..........................Dr.  

Bad debts A/c..........................Dr. 

        To B 

(Being   the   amount   received   and 

written off on B’s insolvency) 

 3,200 

4,800 

 

 

8,000 

 

 

 

 

 

 

 

 

 

 

Question No. 1                                                                                                                                                                 RTP  May 2018 

Bills of Exchange  
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Prepare Journal entries for the following transactions in K. Katrak’s books. 
 

i. Katrak’s acceptance to Basu for ₹ 2,500 discharged by a cash payment of ₹ 1,000 and a new bill for the 

balance plus ₹ 50 for interest. 

 

ii. G. Gupta’s acceptance for ₹ 4,000 which was endorsed by Katrak to M. Mehta was dishonoured. Mehta paid 

₹ 20 noting charges. Bill withdrawn against cheque. 

 

iii. D. Dalal retires a bill for ₹ 2,000 drawn on him by Katrak for ₹ 10 discount. 

 

iv. Katrak’s acceptance to Patel for ₹ 5,000 discharged by Patel Mody’s acceptance to Katrak for a similar 

amount. 

 

ANSWER 

 

Books of K. Katrak Journal Entries. 

 

  ₹ ₹ 

i. Bills Payable Account 

Interest Account 

      To Cash A/c 

      To Bills Payable Account 

(Bills Payable to Basu discharged by cash payment of ₹ 1,000 and a new bill 

for  ₹1,550 including  ₹ 50 as interest) 

2,500 

50 

 

 

1,000 

1,550 

ii. (a) G. Gupta 

             To M. Mehta 

(G.  Gupta’s  acceptance  for  ₹ 4,000  endorsed  to  M. Mehta dishonoured, ₹ 

20 paid by M. Mehta as noting charges) 
 

4,020  

4020 

(b) M. Mehta 

           To Bank Account 

(Payment to M.  Mehta  on  withdrawal  of  bill  earlier received from Mr. G. 

Gupta) 

 

4,020  

4,020 

iii. Bank Account 

Discount Account 

          To Bills Receivable Account 

(Payment received from D. Dalal   against   his acceptance for ₹ 2,000. 

Allowed him a discount of ₹ 10) 

1,990 

10 

 

 

2,000 

iv. Bills Payable Account 

        To Bills Receivable Account 

(Bills  Receivable  from  Mody  endorsed  to  Patel  in settlement of bills 

payable issued to him earlier) 

5,000  

5,000 

 

 

 

 

 

 

 

 

 

Question No. 2                                                                                                                                                               RTP  Nov. 2018 

126



TeachMe Academy        (88887 88889) Bills of Exchange 
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Rita owed ₹1,00,000 to Siriman. On 1st October, 2018, Rita accepted a bill drawn by Siriman for the amount at 3 

months. Siriman got the bill discounted with his bank for ₹99,000 on 3rd October, 2018. Before the due date, Rita 

approached Siriman for renewal of the bill. Siriman agreed on the conditions that ₹50,000 be paid immediately 

together with interest on the remaining amount at 12% per annum for 3 months and for the balance, Rita should 

accept a new bill at three months. These arrangements were carried out. But afterwards, Rita became insolvent 

and 40% of the amount could be recovered from his estate. 

 

Pass journal entries (with narration) in the books of Siriman. 

 

ANSWER  

 

Particulars  L.F. ₹ ₹ 

Bills Receivable A/c 

         To Rita 

(Being a 3 month’s bill drawn on Rita for the amount  due) 

Dr. 1,00,000  

 1,00,000 

Bank A/c 

Discount A/c 

         To Bills Receivable A/c 

(Being the bill discounted) 

Dr. 

Dr. 

99,000 

1,000 

 

 

1,00,000 

Rita 

        To Bank A/c 

(Being the bill cancelled up due to Rita’s inability to pay it) 

Dr. 1,00,000  

1,00,000 

Rita 

       To Interest A/c 

(Being the interest due on ₹ 50,000 @ 12% for 3 months) 

Dr. 1,500  

1,500 

 

Bank A/c 

To Rita 

(Being the receipt of a portion of the amount due on the bill 

together with interest) 

Dr. 

 
 
 

Dr. 

 
 

Dr. 

 
 
 

Dr. 

Dr. 

51,500 

 
 
 

50,000 

 
 

50,000 

 
 
 

20,000 

30,000 

 

51,500 

 
 
 

50,000 

 
 

50,000 

 
 
 
 

50,000 

Bills Receivable A/c 

To Rita 

(Being the new bill drawn for the balance) 

Rita 

To Bills Receivable A/c 

(Being   the   dishonour  of  the  bill  due  to  Rita’s 

insolvency) 

Bank A/c 

Bad Debts A/c 

To Rita 

(Being the receipt of 40% of the amount due on the bill from 

Rita’s estate) 

 

 

 

 

 

 

 

Question No. 3                                                                                                                                                                 RTP  May 2019 
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Mr. B accepted a bill for Rs. 10,000 drawn on him by Mr. A on 1st August, 2017 for 3 months. This was for the 

amount which B owed to A. On the same date Mr. A got the bill discounted at his bank for Rs. 9,800. 

 

On the due date, B approached A for renewal of the bill. Mr. A agreed on condition that Rs. 2,000 be paid 

immediately along with interest on the remaining amount at 12% p.a. for 3 month s and that for the remaining 

balance B should accept a new bill for 3 months. T hese arrangements were carried through. On 31st December, 

2017, B became insolvent and his estate paid 40%. 
 

Prepare Journal Entries in the books of Mr. A  

Answer 

 

Date  Particulars  L.F. Dr. Amt ₹ Cr. Amt ₹ 

2017 

August 

 

1 

 

Bills Receivable A/c Dr. 

     To B 

(Being the acceptance received from B to settle 

his account) 

 

 

 

 

10,000 

 

 

10,000 

August 1 Bank A/c ...........................................Dr. 

Discount A/c ...........................................Dr. 

     To Bills Receivable 

(Being the bill discounted for ₹ 9,800 from 

bank)  

 

 

 

9,800 

200 

 

 

10,000 

November  4  B A/c  ..........................................................Dr. 

       To Bank Account 

(Being the B’s acceptance is to be renewed) 

 

 

10,000  

10,000 

November  4 B.....................................................Dr. 

      To Interest Account 

(Being the interest due from B for 3 months i.e., 

8000 x 3/12 12%=240) 

 

 

 

240  

240 

November  4 Cash A/c.............................................Dr. 

Bills Receivable A/c.........................Dr. 

     T o B 

(Being amount and acceptance of new bill 

received from B) 

 2,240 

8,000 

 

 

10,240 

December 

 

31  B A/c...........................................................Dr. 

    To Bills Receivable A/c  

(Being B became insolvent) 

 8,000  

8,000 

December 

 

31 Cash A/c............................................Dr. 

Bad debts A/c.................................Dr. 

        To B 

(Being the amount received and written off on 

B’s insolvency) 

 

 

 

3,200 

4,800 

 

 

8,000 

 

 
 

 

 

 

 

Question No. 4                                                                                                            Mock Test March 2019 (10 Marks) 
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Calculate average due date from the following information: 
 

 

 

Answer  

Calculation of Average Due Date 

(Taking 4th May, 2017 as the base date) 

 

 

 

Date of bill Term Due date Amount 

₹ 

No. of days from 
the base date i.e. 

May 4, 2017 

Product 

₹ 

2017  2017    

1st March 

10th March 

5th April 

23rd April 

10th May 

2 months 

3 months 

2 months 

1 month 

2 months 

4th May 

13th June 

8th June 

26th May 

13th July 

4,000 

3,000 

2,000 

3,750 

5,000 

17,750 

0 

40 

35 

22 

70 

0 

1,20,000 

70,000 

82,500 

3,50,000 

6,22,500 

 

Average due date=Base date+ Days equal to Total of products /Total amount 

= 4th May, 2017 + ₹ 6,22,500  = 4th May, 2017 + 35 days = 8th June, 2017  
                                        17,750 
 

 

 

Mr. Alok owes Mr. Chirag ₹ 650 on 1st January 2018. From January to March, the following further 

transactions took place between Alok and Chirag 
 

January 15 

February 10 

March 7 

Alok buys goods 

Alok buys goods 

Alok received Cash loan 

₹ 1,200 

₹ 850 

₹ 1,500 

Alok pays the whole amount on 31st March, 2018 together with interest @ 6% per annum. Calculate the 

interest by average due date method.  

 

Question No. 1                                                                                                                                                                 RTP  May 2018 

Date of bill Term Amount (₹) 

1st March, 2017 

10th March, 2017 

5th April, 2017 

23rd April, 2017 

10th May, 2017 

2 months 

3 months 

2 months 

1 months 

2 months 

4,000 

3,000 

2,000 

3,750 

5,000 

Question No. 2                                                                                                                                            May  2018   (5 MARKS)  

Average Due Date 
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Answer  

 

Calculation of average due date 

Alok pays the whole amount on 31st March, 2018 together with interest at 6% per annum. 
 

Due Date Amoun
t 

No. of days from Jan. 1 Product 

2018 ₹   

Jan. 1 

Jan. 15 

Feb. 10 

March 7 

650 

1,200 

850 

1,500 

4,200 

0 

14 

40 

65 

0 

16,800 

34,000 

97,500 

1,48,300 

Average due date=Base date+ Days equal to Total of products /Total amount 

         = Jan. 1 + 1,48,300/4,200 

        = Jan. 1 + 35.31* Days 
 
        = Feb. 6  
 
Interest therefore has been calculated on ₹ 4,200 from 6th Feb. to 31st March, i.e., for 54 days. 

4,200 x 6% x 54/365= ₹ 37.28 
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The following are the transactions that took place between G and H during the period from 1st October, 2017 

to 31st March, 2018: 

 
2017 ₹ 

Oct.1                Balance due to G by H 

Oct  18 Goods sold by G to H 

Nov. 16 Goods sold by H to G (invoice dated November, 26) 

Dec.7               Goods sold by H to G (invoice dated December, 17) 

3,000 

2,500 

4,000 

3,500 

2018 ₹ 

Jan. 3               Promissory note given by G to H, at three months 

Feb. 4                Cash paid by G to H 

Mar. 21 Goods sold by G to H 

Mar.28 Goods sold by H to G (invoice dated April, 8) 

5,000 

1,000 

4,300 

2,700 

 

Draw up an Account Current up to March 31st, 2018 to be rendered by G to H, charging interest at 10% per annum. 

Interest is to be calculated to the nearest rupee. 

 

Answer  

 

 

In the books of G H in Account Current with G 

(interest to 31st March,2018@10%p.a.) 

 
 

Date Due 

date 

Particulars No. of 

days till 

31.3.18 

Amt. Product Date Due 

date 

Particulars No. of 

days till 

31.3.18 

Amt. Product 

2017 2017   ₹ ₹ 2017 2017   ₹ ₹ 

Oct 1, 

 

Oct 18, 

 

Oct 1, 

 

Oct 18 

 

To Bal. b/d 

 

To Sales 

 

182 

 

164 

 

3,000 

 

2,500 

 

5,46,000 

 

4,10,000 

 

Nov 16 

 

Dec 7 

 

Nov 26 

 

Dec. 17 

 

By Purchases 

 

By Purchases 

 

125 

 

104 

 

4,000 

 

3,500 

 

5,00,000 

 

3,64,000 

 
2018 2018     2018 2018     

Jan 3 

 

 
Feb 4 

 
Mar 21 

 

Mar 31 

Apr 6 

 

 
Feb 4 

 
Mar. 21

 

Mar 31 

To Bills 

Payable 

 

To Cash 

 
To Sales 

 

To Interest 

(6) 

 
 

55 

 
10 

5,000 

 
 

1,000 

 
4,300 

 

50 

 

 

15,850 

(30,000) 

 
 

55,000 

 
43,000 

 

- 

 

 

10,24,000 

Mar 28 

 
Mar 31 

Apr 8 

 
Mar 31 

By Purchases 

 
By  Balance 

of product 

 

By Balance 

c/d 

(8) 2,700 

 

 

 
 

5,650 

 

 

 
15,850 

(21,600) 

 
1,81,600 

 

 

 

 

 

 
10,24,000 

 

 

 

Interest for the period = 1,81,600 x 10 x 1 = ₹ 50 (approx.) 

 

 

Question No. 1                                                                                                                                                                 RTP  May 2019 

Account Current  

100 x 365 
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On 1st January, 2018, X’s account in Y’s ledger showed a debit balance of Rs. 5,000.  The following transactions 

took place between Y and X during the quarter ended 31st March, 2018: 

 

2018   ₹ 

Jan. 

Jan. 

Feb. 

Feb. 

Feb. 

March 

March 

March 

11 

24 

01 

04 

07 

01 

18 

23 

Y sold  goods  to X 

Y received  a promissory  note  from X due  after 3 months 

X sold  goods  to Y 

Y sold  goods  to X 

X returned  goods  to Y 

X sold  goods  to Y 

Y sold  goods  to X 

X sold  goods  to Y 

6,000 

5,000 

10,000 

8,200 

1,000 

5,600 

9,200 

4,000 

Accounts were settled on 31st March, 2018 by means of a cheque.  Prepare an Account Current to be submitted 

by Y to X as on 31st March, 2018, taking interest into account @ 10% per annum. Calculate interest to the 

nearest multiple of a rupee. 

 

 

 

Answer 
 

X in Account Current with Y (Interest to 31st March, 2018 @ 10% p.a) 
 

Date Particulars Amount Days Product Date Particulars Amount Days Product 

2018  ₹  ₹ 2018  ₹  ₹ 

Jan.1 

 
 

Jan.11 

Feb. 4 

 

Mar.18 

Mar.31 

To Balance 

b/d 

 

To Sales 

To Sales 

 

To Sales 

To Interest 

5,000 

 
 

6,000 

8,200 

 

9,200 

219 

90 

 
 

79 

55 

 

13 

4,50,000 

 
 

4,74,000 

4,51,000 

 

1,19,600 

Jan.24 

 
 

Feb. 1 

Feb. 7 

 

Mar. 1 

Mar.23 

Mar.31 

 

Mar.31 

By Promissiory 

Note (due date 

27th April) 

By Purchases 

By Sales 

Return 

By Purchases 

By Purchases 

By Balance of 

Products 

By Bank 

5,000 

 
 

10,000 

1,000 

 

5,600 

4,000 

 
 

3,019 

(27) 

 
 

58 

52 

 

30 

8 

(1,35,000) 

 
 

5,80,000 

52,000 

 

1,68,000 

32,000 

7,97,600 

28,619 14,94,600 28,619 14,94,600 

 

Working Note: 

Calculation of interest: 

 

Interest = 7,97,600 /365 x 10 /100 = ₹ 219 (approx.) 
 

 

 

 

Question No. 2                                                                                                                        Mock Test March 2019 (5 MARKS) 
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By CMA, CS Rohan Nimbalkar   

 

 

 

Question No.1                                                                                                                       RTP  Nov. 2018 ,RTP  Nov. 2019                      

 

M/s. Green Channel purchased a  second-hand machine on 1st January, 2015 for 1,60,000. Overhauling and 

erection charges amounted to ₹ 40,000. Another machine was purchased for ₹ 80,000 on 1st July, 2015. 

On 1st July, 2017, the machine installed on 1st January, 2015 was sold for ₹ 1,00,000.  

Another machine amounted to ₹ 30,000 was purchased and was installed on 30th September, 2017. 

 

Under the existing practice the company provides depreciation @ 10% p.a. on original cost. However, from the 

year 2018 it decided to adopt WDV method and to charge depreciation 15% p.a.  You are required to prepare 

Machinery account for the years 2015 to 2018. 

 

Answer 

 
In the books of M/s. Green Channel Co. Machinery Account 

 

     ₹   ₹  
 

1.1.2015  To  Bank A/c 1,60,000 31.12.2015 By  Depreciation A/c 24,000  
 

  To  Bank A/c 40,000  (₹ 20,000 + ₹ 4,000)    
 

  

(Erection 

charges)  31.12.2015 By  Balance c/d 2,56,000  
 

1.7.2015 

 

To 

 

Bank A/c 

  

(₹ 1,80,000 + ₹ 76,000) _______ 

 
 

  80,000   
 

     2,80,000   2,80,000  
 

           
 

1.1.2016  To Bal. b/d 2,56,000 31.12.2016 By  Depreciation A/c 28,000  
 

       (₹ 20,000 + ₹ 8,000)    
 

      31.12.2016 By  Balance c/d 2,28,000  
 

     _______  (₹ 1,60,000 + ₹ 68,000) _______  
 

     2,56,000   2,56,000  
 

           
 

1.1.2017  To  Bal. b/d 2,28,000 1.7.2017 By  Bank A/c 1,00,000  
 

30.9.2017  To  Bank A/c 30,000  By  Profit and Loss A/c 50,000  
 

       (Loss on Sale – W.N. 1)    
 

      31.12.2017 By  Depreciation A/c 18,750  
 

       (₹ 10,000 + ₹ 8,000 + ₹ 750)    
 

       

By  Balance c/d                                            

+ ₹ 29,250) 89,250  
 

           
 

   2,58,000     2,58,000 

  
 

1.1.2018 To Balance b/d 89,250 31.12.2018 By  Depreciation A/c  13,387.5 

  
 

       (₹ 9,000 + ₹ 4,387.5)    

  
 

       By  Balance c/d  75,862.5 

  
 

  ______   (₹ 51,000 + ₹ 24,862.5)  ______ 

  
 

  89,250     89,250 

  
 

 Concept and Accounting of Depreciation 
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Working Notes: 

 

Book Value of machines (Straight line method) 
 

  Machine Machine Machine 

  I II III 

  ₹ ₹ ₹ 

 

Cost 2,00,000 80,000 30,000 

 

Depreciation for 2015 20,000 4,000  

 

Written down value as on 31.12.2015 1,80,000 76,000  

 

Depreciation for 2016 20,000 8,000  

 

Written down value as on 31.12.2016 1,60,000 68,000  

 

Depreciation for 2017 10,000 8,000 750 

 

Written down value as on 31.12.2017 1,50,000 60,000 29,250 

 

Sale proceeds 1,00,000  

 

Loss on sale 50,000  
 

 

A lease is purchased on 1st April, 2014 for 4 years at a cost of ₹ 2,00,000. It is proposed to depreciate the lease by 

the annuity method charging 5 percent interest. A reference to the annuity table shows that to depreciate ₹ 1 by 

annuity method over 4 years charging 5% interest, one must write off a sum of ₹ 0.282012 [T o write off ₹ 

2,00,000 one has to write off every year ₹ 5,6402.40 i.e. 0.282012 × 2,00,000]. 

 

You are required to show the Lease Account for four years (2014-15 to 2017-18) and also the relevant entries 

posted to the profit and loss account. 
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Answer 
 

Lease Account 
 

Dr.   Cr.   

2014-15   2014-15   

April.  1 To Bank A/c 2,00,000.00 Mar. 31 By Depreciation A/c 56,402.40 

Mar. 31 

To Interest A/c (5% on ₹ 

2,00,000) 10,000.00  By Balance  c/d 1,53,597.60 

  2,10,000.00   2,10,000.00 

2015-16   2015-16   

April.  1 To Balance b/d 1,53,597.60 Mar.31 By Depreciation A/c 56,402.40 

Mar. 31 To Interest A/c  7,679.88  By Balance  c/d 1,04,875.08 

 (5% on ₹ 1,53,597.60)     

  
 

   

  1,61,277.48   1,61,277.48 

2016-17   2016-17   

April 1 To Balance b/d 1,04,875.08 Mar 31 By Depreciation A/c 56,402.40 

Mar. 31 To Interest A/c 5,243.75 Mar 31 By Balance c/d 53,716.43 

      

  1,10,118.83   1,10,118.83 

2017-18   2017-18   

April.  1 To Balance b/d 53,716.43 Mar. 31 By Depreciation  A/c 56,402.25 

Mar. 31 To Interest A/c 2,685.82    

  56,402.25   56,402.25 
 

 

Profit and Loss Account 

 

      

2014-15  ₹ 2014-15  ₹ 

Mar. 31 To Depreciation A/c 56,402.40 Mar. 31 By Interest A/c 10,000.00 

2015-16   2015-16   

Mar. 31 To Depreciation A/c 56,402.40 Mar. 31 By Interest A/c 7.679.88 

2016-17   2016-17   

Mar. 31 To Depreciation A/c 56,402.40 Mar. 31 By Interest A/c 5,243.75 

2017-18   2017-18   

Mar. 31 To Depreciation A/c 56,402.25 Mar. 31 By Interest A/c 2,685.82 
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X supplied goods on sale or return basis to customers, the particulars of which are as under: 

 

Date of dispatch Party’s name Amount ₹   Remarks 

10.12.2017 M/s ABC Co. 10,000   No information till 31.12.2017 

12.12.2017 M/s DEF Co 15,000   Returned on 16.12.2017 

15.12.2017 M/s GHI Co 12,000   Goods worth ₹ 2,000 returned on 20.12.2017 

20.12.2017 M/s DEF Co 16,000   Goods Retained on 24.12.2017 

25.12.2017 M/s ABC Co 11,000   Good Retained on 28.12.2017 

30.12.2017 M/s GHI Co 13,000   No information till 31.12.2017 

 

Goods are to be returned within 15 days from the dispatch, failing which it will be treated as sales. The 

books of ‘X’ are closed on the 31st December, 2017. 

Prepare the following account in the books of ‘X’. 

Goods on “sales or return, sold and returned day books”. Goods on sales or return total account. 

 

Answer 
 

In the books of ‘X’ 

Goods on sales or return, sold and returned day book 

 
Date 

2017 

Party to whom goods 

sent 

L.F Amount ₹ Date 

2017 

Sold ₹ Returned ₹ 

Dec.10 

Dec.12 

Dec.15 

Dec.20 

Dec.25 

Dec.30 

M/s ABC 

M/s DEF 

M/s GHI 

M/s DEF 

M/s ABC 

M/s GHI 

 10,000 

15,000 

12,000 

16,000 

11,000 

13,000 

77,000 

Dec. 25 

Dec. 16 

Dec. 20 

Dec. 24 

Dec. 28 

- 

10,000 

- 

10,000 

16,000 

11,000 

_____ 

47,000 

- 

15,000 

2,000 

- 

- 

_____ 

17,000 

 

Goods on Sales or Return Total Account 

 
2017  Amount ₹ 2017  Amount ₹ 

Dec. 31 To Returns 

To Sales 

To Balance c/d 

17,000 

47,000 

13,000 

77,000 

Dec. 31 By Goods sent 

on sales or return 

 

77,000 

_____ 

77,000 
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On 31st  December, 2018 goods sold at a sale price of ₹ 3,000 were lying with customer, Ritu to whom these goods 

were sold on ‘sale or return basis’ were recorded as actual sales. Since no consent has been received from Ritu, you 

are required to pass adjustment entries presuming goods were sent on approval at a profit of cost plus 20%. 

Present market price is 10% less than the cost price. 

 

 

Answer  

 

Journal Entries 
 

Date 

2018 

Particulars Dr. 

₹ 

Cr. 

₹ 

31st  

Dec. 

Sales A/c .................................................Dr. 

To Ritu’s A/c 
(Being  cancellation  of  entry  for  sale  of  goods, not yet approved) 

3,000 
 
 
 

2,250 

 

3,000 
 
 
 

2,250 
Inventories with customers A/c (Refer W.N.)............ Dr. 

To Trading A/c 
(Being  Inventories  with  customers  recorded  at  market price) 

Working Note: 

Calculation of cost and market price of Inventories with customer 

 

Sale price of goods sent on approval ₹ 3,000 

Less: Profit (3,000 x 20/120) ₹ 500 

Cost of goods ₹ 2,500 

 

Market price = 2,500 - (2,500 x 10%) = ₹ 2,250 

 

 

Mr. Badhri sends goods to his customers on Sale or Return. The following transactions took place during the 

month of December 2017. 

December 2nd - Sent goods to customers on sale or return basis at cost plus 25% - ₹ 80,000 

December 10th - Goods returned by customers ₹ 35,000 

December 17th - Received letters from customers for approval ₹ 35,000 

December 23rd - Goods with customers awaiting approval ₹ 15,000 

Mr. Badhri records sale or return transactions as ordinary sales. You are required to pass the necessary 

Journal Entries in the books of Mr. Badhri assuming that the accounting year closes on 31st Dec. 2017. 
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Answer 
 

In the books of Mr. Badhri Journal Entries 
 

Date Particulars  L.F. Dr. 
(in ₹) 

Cr. 
(in ₹) 

2017 

Dec. 2 
 
 
 

Dec. 10 
 
 
 
 

Dec. 23 
 
 
 
 

Dec. 31 

Trade receivables A/c....................................... Dr. 

To Sales A/c 

(Being the goods sent to customers on 
sale or return basis) 
 

Return Inward A/c (Note 1) .............................. Dr 

To Trade receivables A/c. 

(Being the goods returned by customers 
to whom goods were sent on sale or 
return basis) 

Sales A/c....................................... Dr. 

To Trade receivables A/c 

(Being the cancellation of original entry of 
sale in respect of goods on sale or return 
basis) 

Inventories with customers on Sale or 
Return A/c....................................... Dr. 

To Trading A/c (Note 3) 

(Being the adjustment for cost of goods 
lying with customers awaiting approval) 

 
 
 
 

Dr. 
 
 
 
 

                
Dr. 
 
 
 
 

Dr. 

 80,000 
 
 
 

35,000 
 
 
 
 

                
15,000 
 
 
 
 

12,000 

 

80,000 
 
 
 

35,000 
 
 
 
 

                 
15,000 
 
 
 
 

12,000 

Note: 

(1)   Alternatively, Sales account or Sales returns can be debited in place of Return Inwards account. 

(2)   No entry is required for receiving letter of approval from customer. 

(3)   Cost of goods with customers = ₹ 15,000 x 100/125 = ₹ 12,000 

(4)   It has been considered that the transaction values are at invoice price (including profit margin). 

 

Mr. Ganesh sends out goods on approval to few customers and includes the same in the Sales Account. On 

31.03.2018, the Trade Receivables balance stood at ₹ 75,000 which included ₹ 6,500 goods sent on 

approval against which no intimation was received during the year. These goods were sent out at 30% 

over and above cost price and were sent to- Mr. Adhitya ₹ 3,900 and Mr. Bakkiram ₹ 2,600. 

 

Mr. Adhitya sent intimation of acceptance on 25th April, 2018 and Mr. Bakkiram returned the goods on 

15th April, 2018. Make the adjustment entries and show how these items will appear in the Balance Sheet as 

on 31st March, 2018. Show also the entries to be made during April, 2018. 

 

Value of Closing Inventories as on 31st March, 2018 was ₹ 50,000. Mr. Adhitya sent intimation of acceptance 

on 25th April, 2018 and Mr. Bakkiram returned the goods on 15th April, 2018. 

 

Make the adjustment entries and show how these items will appear in the Balance Sheet as on 31st March, 

2018. Show also the entries to be made during April, 2018. Value of Closing Inventories as on 31st March, 2018 

was ₹ 50,000.  
 

 

 

Question No. 4                                                                                                                                        Nov.  2018 ( 5 MARKS) 
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Answer 
 

In the Books of Mr. Ganesh Journal Entries 
 

 

Date 

 

Particulars 

 

L.F. 

Dr. 

₹ 

Cr. 

₹ 

2018 

March 31 
 
 
 

                  
March 31 
 
 
 
 

                            
April 25 

Sales A/c...................................................... Dr. 

To Trade receivables A/c 

(Being the cancellation of original entry 
for sale in respect of goods lying with customers awaiting 
approval) 

 6,500 
 
 
 
 

                        
5,000 

 
 
 
 

                   
3,900 

 

6,500 
 
 
 
 
 

5,000 
 
 
 

                       
3,900 

Inventories with Customers on Sale or Return A/c............. Dr 

To Trading A/c (Note 1) 

(Being the adjustment for cost of goods 
lying with customers awaiting approval) 

Trade receivables A/c...................................................... Dr 

To Sales A/c 

(Being goods costing worth ₹ 3,900 sent 
to Mr. Aditya on sale or return basis has 
been accepted by him) 

 

Balance Sheet of Mr. Ganesh as on 31st March, 2018 (Extracts) 
 

Liabilities ₹ Assets ₹ ₹ 

  Trade receivables (₹ 75,000 - ₹ 6,500) 

Inventories-in-trade 

Add: Inventories with customers on 
Sale or Return 

 

50,000 
 

5,000 

68,500 
 
 

55,000 

 1,23,500 

Notes: 

(1)   Cost of goods lying with customers = 100/130 x ₹ 6,500 = ₹ 5,000 

(2)   No entry is required on 15th April, 2018 for goods returned by Mr. Bakkiram. Goods should be included 

physically in the Inventories. 
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Issue of Shares  

 

1. E Ltd. has allotted 10,000 shares to the application of 14,000 shares on pro-rata basis. The amount payable on 

application is Rs. 2. F applied for 420 shares the number of shares allotted and the amount carried forward for 

adjustment against allotment due from F: 

A. 60 shares; Rs. 120    B. 340 shares; Rs. 160   

C. 320 shares; Rs. 200   D. 300 shares; Rs. 240 

 

 

2. 10,000 equity shares of Rs. 10 each were issued to public at a premium of Rs. 2 per share. Application were 

received for 12,000 shares. Amount of securities premium account will be: 

A. Rs. 20,000 B. Rs. 24,000 C. Rs. 4,000  D. Rs. 1,600 

 

3. Called up share capital (46,000 shares 10 each) Rs. 4,60,000 

Calls in arrear Rs. 7,500 

Proposed dividend 5% 

Amount of proposed dividend will be 

A. Rs. 22625  B. Rs. 25000  C. Rs. 23000  D. None of the three. 

 

Forfeiture of Shares 

 

4. 500 shares of Rs. 20 each issued at 5% discount are forfeited for non-payment of allotment and final call money 

@ Rs. 9 and Rs. 5 respectively. Amount credited to share forfeiture A/c is: 

A. Rs. 2,000  B. Rs. 2,500  C. Rs. 3,000   D. Rs. 7,000 

 

5.  A company issued 5,000 shares of Rs. 10 each at 20 % premium payable as follows: Application – Rs. 2, 

Allotment – Rs. 5 (including premium) and First and Final call. His shares were forfeited. Calculate the amount 

credited to the Share Forfeited Account. 

A. Rs. 1,000  B. Rs. 1,400   C. Rs. 400  D. None of these  

 

6. The directors of company forfeited 1000 shares of Rs. 10 each, Rs. 7.5 paid up, for non-payment of call money of 

Rs. 2.5 per share. 700 of this shares are reissued @ Rs. 7 per share. The amount transfer to Capital Reserve A/c 

would be: 

A. Rs. 2,500  B. Rs. 3,150  C. Rs. 3,500  D. Rs. 5,400 

 

 

7. A company forfeited 100 equity shares of Rs. 100 each issued at premium of 50% (to be paid at the time of 

allotment) on which the first call money of Rs. 30 per share was not received, final call of Rs. 20 is yet to be made. 

These shares were subsequently reissued at Rs. 70 per share at Rs. 80 paid up. The amount credited to Capital 

Reserve is: 

A. 4,000 B. 2,000 C. 3,000 D. None 

Issue, forfeiture of Shares & Issue of Debentures 

 
Multiple Choice Questions 
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8. A Ltd., acquired assets worth Rs. 11,25,000 from B. Ltd., by issue of equity shares of Rs. 100 at premium of 25%. 

The shares to be issued by A Ltd., for the purchase of consideration: 

A. 9000 shares  B. 11250 shares  C. 14063 shares  D. 7500 shares  

 

9. F Ltd. purchased Machinery from G Company for a book value of Rs.4,00,000. The consideration was paid by 

issue of 10% debentures of Rs.100 each at a discount of 20%. The debenture account was credited with 

A. Rs.4,00,000 B. Rs.5,00,000 C. Rs.3,20,000 D. Rs.4,80,000 

 

 

10. Huge Ltd. issued 25,000 equity shares of Rs.100 each at a premium of Rs.15 each payable as Rs.25 on 

application, Rs.40 on allotment and balance in the first call. The applications were received for 75,000 equity 

shares but the company issued to them only 25,000 shares. Excess money was refunded to them after adjustment 

for further calls. Last call on 500 shares were not received and were forfeited after due notice. The above is the 

case of 

A. Over subscription. B. Pro-rata allotment.  C. Forfeiture of shares.   D. All of the above 

 

11. O Ltd. issued 10,000 equity shares of Rs.10 each at a premium of 20% payable Rs.4 on application (including 

premium), Rs.5 on allotment and the balance on first and final call. The company received applications for 15,000 

shares and allotment was made pro-rata. P, to whom 3,000 shares were allotted, failed to pay the amount due on 

allotment. All his shares were forfeited after the call was made. The forfeited shares were reissued to Q at par. 

Assuming that no other bank transactions took place, the bank balance of the company after effecting the above 

transactions = ? 

A. Rs.1,14,000 B. Rs.1,32,000 C. Rs.1,20,000 D. Rs.1,00,000 

 

 

 

Issue of shares  

 

Pihu Limited issued at par  2,00,000 Equity shares of ₹ 10 each payable ₹ 2.50 on application; ₹ 3 on 

allotment; ₹ 2 on first call and balance on the final call. All the shares were fully subscribed. Mr. Pal who held 

20,000 shares paid full remaining amount on first call itself. The final call which was made after 3 months from 

first call was fully paid except a shareholder having 2,000 shares who paid his due amount after 2 months 

along with interest on calls in arrears. Company also paid interest on calls in advance to Mr. Pal. You are 

required to prepare journal entries to record these transactions. 

 

Answer 
 

Book of Pihu Limited Journal 

  
Date Particulars L.F. Debit 

Amount 

(₹) 

Credit 

Amount 

(₹) 

 Bank A/c..................................................................Dr.  

         To Equity Share Application A/c 

(Money received on applications for 

2,00,000 shares @₹ 2.50 per share) 

 5,00,000 

 

 

5,00,000 

 

Question No. 1                                                                                                                                                                 RTP  May 2018 
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 Equity Share Application A/c ..............................Dr. 

           To Equity Share Capital A/c 

(Transfer  of  application  money  on 2,00,000 

shares to share capital) 

 

 5,00,000 

 

 

5,00,000 

 

 Equity Share Allotment A/c.........................................Dr. 

To Equity Share Capital A/c 

(Amount  due  on  the  allotment  of 2,00,000 

shares @ ₹  3 per share) 

 

 
6,00,000 

 

 

6,00,000 

 

 Bank A/c.................................................Dr. 

To Equity Share Allotment A/c 

(Allotment money received) 

 

 
6,00,000 

 

 

6,00,000 

 

 Equity Share First Call A/c................................Dr. 

To Equity Share Capital A/c 

(Being first call made due on 2,00,000 shares at ₹.2 
per share) 

 

      4,00,000 

 

 

4,00,000 

 

 Bank A/c.......................................Dr. 

To Equity Share First Call A/c 

To Calls in Advance A/c 

(Being first call money received along with calls in 

advance on 20,000 shares at ₹2.50 per share) 

 

 4,50,000  

4,00,000 

50,000 

 Equity Share Final Call A/c.................................................Dr.

  To Equity Share capital A/c  

(Being final call made due on 2,00,000 shares at ₹2.50 

each) 

 

 5,00,000  

5,00,000 

 Bank A/c.................................................Dr. 

Calls in Advance /C Dr.  

Calls in Arrears A/c Dr.  

(Being final call received for 1,78,000 shares  

and calls in advance for 20,000 shares adjusted) 

 

 4,45,000 

50,000 

5,000 

 

 

 

5,00,000 

 Interest on Calls in Advance A/c.....................................Dr. 

       To shareholders A/c  

Being interest made due on calls in advance of 

₹50,000 at the rate of 12% p.a.) 

 

 1,500  

1,500 

 Shareholders A/c.................................................Dr. 

       To bank A/c  

(Being  payment  of  Interest  made  to shareholders) 
 

 1,500  

1,500 

 Shareholders A/c.................................................Dr.  

       To Interest on Calls in Arrears A/c 

(Being interest on calls in arrears made due at the rate 

of 10%) 

 

 83.34  

83.34 

 Bank A/c.................................................Dr.  

To Calls in Arrears A/c  

To Shareholders A/c  

(Being money received from shareholder  for  calls  in  

arrears  and interest thereupon) 

 5,083.34  

5,000 

83.34 
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Piyush Limited is a company with an authorized share capital of ₹ 2,00,00,000 in equity shares of ₹ 10 

each, of which 15,00,000 shares had been issued and fully paid on 30th June, 2017. The company 

proposed to make a further issue of 1,30,000 shares of ₹ 10 each at a price of ₹ 12 each, the arrangements for 

payment being: 

(i) ₹ 2 per share payable on application, to be received by 1st July, 2017; 

(ii) Allotment to be made on 10th July, 2017 and a further ₹ 5 per share (including the premium) to be 

payable; 

(iii) The  final  call  for  the  balance  to  be  made,  and  the  money  received  by 30th April, 2018. 

 

Applications were received for 4,20,000 shares and were dealt with as follows: 

1) Applicants for 20,000 shares received allotment in full; 

2) Applicants for 1,00,000 shares received an allotment of one share for every two applied for; no 

money was returned to these applicants, the surplus on application being used to reduce the amount 

due on allotment; 

3) Applicants for 3,00,000 shares received an allotment of one share for every five shares applied 

for; the money due on allotment was retained by the company, the excess being returned to the 

applicants; and 

4) The money due on final call was received on the due date. 

 

You are required to record these transactions (including cash items) in the journal of Piyush limited. 

 

 

Answer 
 

Journal of Piyush Limited 

 

Date  Dr. Cr. 

2017 Particulars ₹ ₹ 

July 1 Bank A/c (Note 1 - Column 3) ............................................Dr. 

         To Equity Share Application A/c  

(Being  application  money  received  on 4,20,000 shares @ ₹ 

2 per share) 
 

8,40,000  

8,40,000 

July 10 Equity Share Application A/c............................................Dr.   

        To Equity Share Capital A/c  

     To Equity Share Allotment A/c (Note 1 - Column 5) 

        To Bank A/c (Note 1-Column 6)  

(Being application money on 1,30,000 shares transferred to 

Equity Share Capital Account; on 2,00,000 shares adjusted with 

allotment and on 90,000 shares refunded as per Board’s 

Resolution No…..dated…) 

 

8,40,000  

2,60,000 

4,00,000 

1,80,000 
 

 Equity Share Allotment A/c............................................Dr. 

     To Equity Share Capital A/c  

     To Securities Premium a/c  

(Being allotment money due on 1,30,000 shares @ ₹ 5 each 

including premium at ₹ 2  each  as  per  Board’s  Resolution  

No….dated….) 

 

6,50,000  

3,90,000 

2,60,000 

Question No. 2                                                                                                                                      May  2018   (10 MARKS)  
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 Bank A/c (Note 1 - Column 8) ............................................Dr. 

     To Equity Share Allotment A/c  

(Being balance allotment money received) 

 

2,50,000  

2,50,000 

 Equity Share Final Call A/c............................................Dr. 

     To Equity Share Capital A/c  

(Being final call money due on 1,30,000 shares @ ₹ 5 per share 

as per Board’s Resolution No…..dated….) 

 

6,50,000  

6,50,000 

April 30 Bank A/c............................................Dr.  

      To Equity Share Final Call A/c  

(Being final call money on 1,30,000 shares @ ₹  5 each received) 

 

6,50,000 

 

 

6,50,000 
 

 

Working Note: 

Calculation for Adjustment and Refund 
 

Category No. of 
Shares 
Applied 

for 

No. of 
Shares 
Allotted 

Amount 

Received on 
Application 

(1x ₹ 2) 

Amount 
Required on 
Application 
(2 x ₹ 2) 

Amount 
adjusted 

on 
Allotment 

Refund 
[3-4-5] 

Amount 
due on 

Allotment 

Amount 

received 
on 

Allotment 

 (1) (2) (3) (4) (5) (6) (7) (8) 

(i) 

(ii) 

(iii) 

20,000 

1,00,000 

3,00,000 

20,000 

50,000 

60,000 

40,000 

2,00,000 

6,00,000 

40,000 

1,00,000 

1,20,000 

Nil 

1,00,000 

3,00,000 

Nil 

Nil 

1,80,000 

1,00,000 

2,50,000 

3,00,000 

1,00,000 

1,50,000 

Nil 

TOTAL 4,20,000 1,30,000 8,40,000 2,60,000 4,00,000 1,80,000 6,50,000 2,50,000 
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By CMA, CS Rohan Nimbalkar   

 

Forfeiture of Shares 

 

Mr. Hello who was the holder of 4,000 preference shares of ₹ 100 each, on which ₹ 75 per share has been 

called up could not pay his dues on Allotment and First call each at ₹ 25 per share. The Directors forfeited 

the above shares and reissued 3,000 of such shares to Mr. X at ₹ 65 per share paid-up as ₹75 per share. 

 

You are required to prepare journal entries to record the above forfeiture and re-issue in the books of the 

company. 

 

Answer 
 

In the books of Company 

Journal 

 
 

Particulars Dr. 

₹ 

Cr. 

₹ 

Preference Share Capital A/c (4,000 x ₹75) 

To Preference Share Allotment A/c 

To Preference Share First Call A/c 

To Forfeited Share A/c 

(Being the forfeiture of 4,000 preference shares ₹ 75 each 
being called up for non-payment of allotment and first 
call money as per Board’s Resolution No ..... dated.........) 
 

3,00,000 
 
 
 
 
 
 
 
 

 

 

1,00,000 

1,00,000 

1,00,000 
 
 
 
 
 

Bank A/c (3,000 x ₹65) 

Forfeited Shares A/c (3,000 x ₹10) 

To Preference Share Capital A/c 

(Being re-issue of 3,000 shares at ₹ 65 per share 

paid-up   as ₹ 75   as   per   Board’s   Resolution 

No…..dated….) 

1,95,000 

30,000 

 

 
 

2,25,000 
 

Forfeited Shares A/c 

To Capital Reserve A/c (Note 1) 

(Being profit on re-issue transferred to Capital/Reserve) 

45,000  

45,000 

 

Working Note: 

Calculation of amount to be transferred to Capital Reserve 

Forfeited amount per share =₹ 1,00,000/4,000                                   = ₹ 25 

Loss on re-issue =₹ 75 - ₹ 65 = ₹ 10 

Surplus per share re-issued ₹ 15 

Transferred to capital Reserve ₹ 15 x 3,000 = ₹ 45,000. 
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TeachMe Academy        (88887 88889) Issue of Shares & Debentures 

 

By CMA, CS Rohan Nimbalkar   

 

 

Issue of Debentures 

 
Riya Limited issued 20,000 14% Debentures of the nominal value of ₹1,00,00,000 as follows: 

(a)   To sundry persons for cash at 90% of nominal value of ₹ 50,00,000. 

(b)   To a vendor for purchase of fixed assets worth ₹ 20,00,000 - ₹ 25,00,000 nominal value. 

(c)   To the banker as collateral security for a loan of ₹ 20,00,000 - ₹ 25,00,000 nominal value. 

You are required to prepare necessary journal entries Journal Entries. 

 

Answer  

In the books of Riya Company Ltd. 

Journal Entries 

 

Date Particulars Dr. Cr. 

  ₹ ₹ 

(a) Bank A/c........................................Dr.  

           To Debentures Application A/c  

(Being the application money received on 10,000 

debentures @ ₹ 450 each) 

 

45,00,000 

 

 

45,00,000 

 

 Debentures Application A/c........................................Dr. 

Discount on issue of Debentures A/c........................................Dr.  

             To 14% Debentures A/c  

(Being the issue of 10,000 14% Debentures @ 90%   as   per   

Board’s   Resolution No….dated….) 

 

45,00,000 

5,00,000 

 

 

 

50,00,000 

(b) Fixed Assets A/c........................................Dr.   

             To Vendor A/c  

(Being the purchase of fixed assets from vendor) 

 

20,00,000  

20,00,000 

 Vendor A/c........................................Dr.   

Discount on Issue of Debentures A/c........................................Dr. 

 To 14% Debentures A/c  

(Being   the   issue   of   debentures of ₹ 25,00,000 to vendor to 

satisfy his claim) 

 

20,00,000 

5,00,000 

 

 

25,00,000 

 

(c)
  

Bank A/c........................................Dr.  

           To Bank Loan A/c (See Note)  

(Being a loan of ₹ 20,00,000 taken from bank by issuing 

debentures of ₹25,00,000 as collateral security) 

 

20,00,000  

20,00,000 

 

 

Note: No entry is made in the books of account of the company at the time of making issue of such 

debentures. In the “Notes to Accounts” of Balance Sheet, the fact that the debentures being issued as 

collateral security and outstanding are shown by a note under the liability secured. 
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